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Section - I (English)

Q.No: 1 Choose the correct part of speech for the underlined word in each sentence.

The detective carefully examined the mysterious document.

Verb

Adverb

Adjective

Noun

Q.No: 2 Read the following paragraph and then answer the questions given below by choosing the most appropriate option based on what
is said in the paragraph:

The Impact of Social Media on Teenagers

The rise of social media has significantly influenced the lives of teenagers. While it provides a platform for connecting with friends
and expressing creativity, there are concerns about its impact on mental health. Excessive use of social media can lead to feelings
of inadequacy and anxiety due to constant comparison with others. It is crucial for teenagers to strike a balance, using social
media responsibly and being mindful of its potential effects on self-esteem.

What is a potential impact of excessive social media use, as mentioned in the paragraph?

Increased self-esteem

Feelings of inadequacy and anxiety

Improved mental health

Enhanced creativity

Not Answered

Q.No: 3 Read the following paragraph and then answer the questions given below by choosing the most appropriate option based on what
is said in the paragraph:

The Impact of Social Media on Teenagers

The rise of social media has significantly influenced the lives of teenagers. While it provides a platform for connecting with friends
and expressing creativity, there are concerns about its impact on mental health. Excessive use of social media can lead to feelings
of inadequacy and anxiety due to constant comparison with others. It is crucial for teenagers to strike a balance, using social
media responsibly and being mindful of its potential effects on self-esteem.

According to the paragraph, what can social media provide for teenagers?

Increased anxiety

Constant comparison

A platform for connecting with friends

Inadequate creativity expression

Not Answered

Q.No: 4 Read the following paragraph and then answer the questions given below by choosing the most appropriate option based on what
is said in the paragraph:

The Impact of Social Media on Teenagers

The rise of social media has significantly influenced the lives of teenagers. While it provides a platform for connecting with friends
and expressing creativity, there are concerns about its impact on mental health. Excessive use of social media can lead to feelings
of inadequacy and anxiety due to constant comparison with others. It is crucial for teenagers to strike a balance, using social
media responsibly and being mindful of its potential effects on self-esteem.

What is the advice given to teenagers in the paragraph?

Avoid social media completely

Become a social media influencer

Use social media responsibly

Ignore mental health concerns

Not Answered

Q.No: 5 Choose the correct option that completes the sentence logically and grammatically:

The cat sat ______ the window sill.

by

in

at

on

Q.No: 6 Choose the option that best represents the antonym of the underlined word in the sentence.

The courtroom was filled with tumultuous applause after the verdict.

noisy

loud

enthusiastic

quiet

Not Answered

Q.No: 7 Arrange the following jumbled sentence into a coherent order:

A. Early

B. The

C. The Morning

D. In

E. Rises

F. Sun

B-F-D-C-E-A

A-B-C-D-E-F

D-B-C-F-E-A

B-F-E-A-D-C

Not Answered

Q.No: 8 What is the single word for "A person who can speak two languages?"

Bilingual

Linguist

Polyglot

Multilingual

Not Answered

Q.No: 9 Identify the sentence which is grammatically correct.

She likes to dance; but she doesn't like to sing

She likes to dance but she doesn't like to sing

She likes to dance, but she doesn't like to sing.

She likes to dance but, she doesn't like to sing

Q.No: 10 Fill in the blank with the correctly spelled word:

She worked at her ________.

Convenience

Conveneince

Convinience

Conveniance

Q.No: 11 What does the term "inquisitive" mean?

Calm

Indifferent

Curious

Uninterested

Not Answered

Q.No: 12 Choose the correct part of speech for the underlined word in each sentence.

The cat quickly jumped over the fence.

Verb

Noun

Adjective

Adverb

Q.No: 13 Choose the correct question tag from the four options given, that completes the sentence logically and grammatically:

They haven't finished yet, _____?

does he

haven't they

have they

do they

Q.No: 14 Choose the correct meaning of "ubiquitous":

Unique

Commonplace

Specific

Rare

Not Answered

Q.No: 15 Choose the correct singular form of "mice".

mouses

mousses

mices

mouse

Q.No: 16 Which sentence is in the active voice?

The painting was admired by everyone.

The book was written by Shakespeare.

She reads a book every day.

The ball was kicked by the boy.

Q.No: 17 Choose the correct option that completes the sentence logically and grammatically:

She is _____ best singer I have ever heard.

a

an

the

No Article Required

Q.No: 18 Choose the correct past tense of "eat".

eating

eated

eat

ate

Q.No: 19 Choose the correct part of speech for the underlined word in each sentence.

He walked quickly to catch the bus.

Noun

Verb

Adjective

Adverb

Q.No: 20 Which sentence is NOT a correct passive voice transformation of its active counterpart?

We eat the cake. (The cake is eaten by us)

They open the door. (The door is opened by them)

She sings a song. (Sung by her)

He gives her a gift. (A gift is given to her by him)

Q.No: 21 Choose the correct article in English grammar, that completes the sentence:

He reads newspaper in _____ morning.

a

the

an

No Article Required

Q.No: 22 What does the idiom "bite the bullet" mean?

Avoid a problem

Complain about a problem

Chew on a bullet

Face a difficult situation with courage

Not Answered

Q.No: 23 Choose the synonym for "Apathy":

Enthusiasm

Indifference

Sympathy

Eagerness

Not Answered

Q.No: 24 Which option correctly uses the past perfect tense?

I am finishing my homework at 6 PM.

I finish my homework at 6 PM.

I finished my homework at 6 PM.

I had finished my homework by 6 PM.

Q.No: 25 Identify the sentence with correct punctuation:

I need to buy bread milk, and eggs.

I need to buy bread, milk and, eggs.

I need to buy bread, milk and eggs.

I need to buy bread milk and eggs.

Not Answered

Section - II (Odia)

Q.No: 26

Q.No: 27

Q.No: 28

Q.No: 29

Q.No: 30

Q.No: 31

Not Answered

Q.No: 32

Q.No: 33

Q.No: 34

Q.No: 35

Q.No: 36

Q.No: 37

Q.No: 38

Q.No: 39

Q.No: 40

Q.No: 41

Q.No: 42

Q.No: 43

Q.No: 44

Q.No: 45

Q.No: 46

Q.No: 47

Q.No: 48

Q.No: 49

Q.No: 50

Section - III (Arithmetic)

Q.No: 51 Simplify :

Q.No: 52 Simplify :

Q.No: 53 Simplify :

Q.No: 54
The average of 10 numbers is 25. If one number is
removed, the average becomes 30. What is the
removed number?

- 30 - 30

- 20 - 20

- 35 - 35

- 50 - 50

Not Answered

Q.No: 55
The speed of sound in air is 330 m/sec. How long will
the sound take to travel 396 km?

Not Answered

Q.No: 56
If A and B together can complete a piece of work
in 10 days and B alone in 15 days,in how many
days can A alone complete the work?

Q.No: 57 If the principal amount is Rs.5000, the rate of
interest is 8% per annum, and the time period is 2
years, what is the simple interest earned?

Not Answered

Q.No: 58
In a class, there are 36 boys and 24 girls. What is
the ratio of boy to girl?

Q.No: 59 If the principal amount is Rs.3000, the interest rate
is 7% per year compounded annually, and the time
period is 2 years,what is the total amount after 2
years?

Not Answered
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Not Answered

Q.No: 60 What percentage of 75 is 30?

Q.No: 61
If a coin is tossed two times, what is the probability of
getting exactly one head?

Q.No: 62
A car travels 120 kilometers in 2 hours. What is its
average speed?

240 kmph 240 kmph

40 kmph 40 kmph

120 kmph 120 kmph

60 kmph 60 kmph

Q.No: 63
If the cost price of an article is Rs. 50 and the selling
price is Rs.70, what is the profit percentage?

45% 45%

35% 35%

30% 30%

40% 40%

Q.No: 64
The average of 7 consecutive numbers is 20. What is
the largest of these numbers?

Q.No: 65 The ratio 35 : 84 in simplest form is _____.

Not Answered

Q.No: 66 What is the Least Common Multiple (LCM) of 8 and 12?

48 48

24 24

32 32

96 96

Q.No: 67 Simplify :

Not Answered

Q.No: 68 What is the Highest Common Factor (HCF) of 20, 50, and
80?

Q.No: 69 Person A incurs a loss of 20% by selling an
article for Rs. 2000. At what price should the
article be sold to earn a 20% profit?

Rs. 3000 Rs. 3000

Rs. 3100 Rs. 3100

Rs. 3300 Rs. 3300

Rs. 3500 Rs. 3500

Not Answered

Q.No: 70 Mokshit is 16 years old. How old was he 4 years back?

10 years

20 years

12 years

14 years

Q.No: 71 A shopkeeper sells a
shirt at a loss of 11%. If
the cost price is Rs.499,
what is the selling price?

Q.No: 72 The ratio of Rohan's present age to his brother's age is
5:4. If the sum of their ages is 72, what is Rohan's
present age?

30 years

72 years

40 years

25 years

Q.No: 73 What is the probability of getting 5 while rolling a dice?

Q.No: 74
To complete a piece of work, Samir takes 6 days
and Tanvir takes 8 days alone respectively.Samir
and Tanvir took Rs.2400 to do this work. When
Amir joined them, the work was done in 3 days.
What amount was paid to Amir?

Rs. 300 Rs. 300

Rs. 700 Rs. 700

Rs. 500 Rs. 500

Rs. 800 Rs. 800

Not Answered

Q.No: 75 In a class out of 20 students, 5% are good at
Drawing. What is the number of students who are
good at Drawing?

Not Answered

Section - IV (General Knowledge)

Q.No: 76 In which year did the 3rd Battle of Panipat take place?

1761

1774

1757

1857

Q.No: 77 The Sabarmati river originates in which among the following
States?

Rajasthan

Karnataka

Kerala

Odisha

Q.No: 78 Who was the founder of Maurya Dynasty?

Chandragupta Vikramaditya

Bimbisara

Ashoka the Great

Chandragupta Maurya

Q.No: 79
1st India-Africa Army Chiefs' Conclave was in:

Kerala

Pune

Maharashtra

Punjab

Q.No: 80 Which of the following organizations
was the result of 'Atoms for Peace'
program in 1957?

International Atomic Energy Agency

North Atlantic Treaty Organisation

Greenpeace

World Nuclear Association

Q.No: 81 Who among the following is the last Deputy Chairman of
the Planning Commission?

Arvind Panagariya

Dr. Manmohan Singh

Kaushik Basu

Montek Singh Ahluwalia

Q.No: 82 As on January 2024, who is the governor of Odisha?

Rameshwar Thakur

Naveen Patnaik

Raghubar Das

Prof. Satya Pal Malik

Q.No: 83
'Chapchar Kut' is a festival celebrated in which Indian State?

Mizoram

Kerala

Meghalaya

Madhya Pradesh

Q.No: 84 Article 17 of the constitution of India deals with:

Elections

Universal civil law

Abolition of Untouchability

Emergency

Not Answered

Q.No: 85 In which year was the Indian National Congress formed?

1877

1880

1886

1885

Q.No: 86 Where is India's largest shipyard situated?

Kochi

Chennai

Mumbai

Vizag

Q.No: 87
'Campbell Bay' National Park is situated in
which of the following states/Union Territories?

Odisha

Puducherry

Andaman & Nicobar

Tamil Nadu

Q.No: 88 Which of the Five year plan followed the
Mahalanobis Model of growth?

4th Five year plan

2nd Five year plan

1st Five year plan

3rd Five year plan

Q.No: 89
In which of the following countries did the first communist
revolution take place?

Vietnam

China

Russia

Germany

Q.No: 90 In which city the Headquarters of Reserve Bank of India is
located?

Mumbai

Kolkata

Nagpur

Delhi

Q.No: 91 What is the full form of IRDAI?

Indian Regulatory and Development Authority of India

Insurance Regulatory and Development Authority of India

Insurance Recording and Development Authority of India

Insurance Revival and Development Authority of India

Q.No: 92
January 9 is celebrated as which of the following day every
year?

International Maritime Day

NRI Day

International Brotherhood day

International Vegetarian Day

Q.No: 93 Economic Planning in India is included in
which list, under the Constitution of India?

State list

President's list

Concurrent list

Union List

Not Answered

Q.No: 94 Which of the following gas is the main constituent of
biogas?

Methane and Carbon Dioxide

Methane and Nitrogen

Nitrogen and Carbon Dioxide

Nitrogen and Dioxide

Q.No: 95 The Jagannath temple of Odisha was built by which of
the following kings?

Rajaraja Deva

Raja Aditya Burman

Someshvara I

Anantavarman Chodaganga Deva

Q.No: 96 Who is the Chairman of NITI Aayog as of January 2024?

Amitabh Kant

Bibek Debroy

Arvind Panagariya

Narendra Modi

Q.No: 97 Who among the following is the author of the
book named 'The God of Small Things'?

Jhumpa Lahiri

Salman Rushdie

Shobha De

Arundhati Roy

Q.No: 98
Which of the following lines separated Arunachal Pradesh
from Tibet during British rule?

Line of Control (LoC)

Line of Actual Control (LaC)

McMahon line

Durand line

Q.No: 99
An annual event 'Earth day' is celebrated on which of the
following day?

21-April

23-April

22-April

24-April

Q.No: 100 Asian development bank has its Headquarters at which
of the following cities?

Tokyo

Hong Kong

Singapore

Manila

Section - V (Computer Knowledge)

Q.No: 101 Which of the following is the
low-level software that
supports a computer's basic
functions, such as
scheduling tasks and
controlling peripherals?

Operating system

Processor

Network bus

Motherboard

Q.No: 102 Alignment buttons are available on which toolbar?

Status

Standard

Formatting

Object

Q.No: 103 Which is not a function of hardware in computers?

Storage

Processing

Communication

Programs

Q.No: 104 What is the full form of the "CC""field in an email?

Contents Copy

Complete Communication

Centralised control

Carbon Copy

Q.No: 105 Which component of an email message usually contains
the sender's name, email address, and the date of the
email?

Header

Signature

Body

Subject

Q.No: 106
Which type of storage device doesn't lose data
even when the power is switched off?

HDD

RAM

USB flash

Cache memory

Q.No: 107 _______ is a person who creates and modifies
computer software and hardware for either negative
or positive reasons.

Criminal

Tracker

Programmer

Hacker

Q.No: 108 ________shortcut is used to select
all graphics and text in the word
document.

Q.No: 109
What is the primary function of a web server in both
internet and intranet environments?

Encrypt intranet data

Host websites and web applications

Control internet speed

Manage internal emails

Q.No: 110 The single dot on a computer screen is called as:

Pixel

Cell

Patch

Resolution

Q.No: 111 What is the purpose of cookies in web browsing?

Track user preferences and activity

Secure data transmission

Enhance website design

Provide internet access

Q.No: 112 The shortcut key to print Word document is:

Q.No: 113 What is the primary purpose of a Wi-Fi router in a
network?

Transmit data over long distances

Connects local networks to other local networks or to the
Internet.

Provide electrical power to connected devices

Convert digital signals to analog signals

Q.No: 114 What is the full form of MAN in computer network?

Maintaining Area Network

Metropolitan Access Network

Medium Area Networking

Metropolitan Area Network

Q.No: 115 Database is a collection of data arranged in ________.

Rows

Paragraphs

Rows and columns

Columns

Q.No: 116
What does the abbreviation "SMTP" refer to in the
context of email communication?

Simple Mail Transfer Protocol

Server Mail Transfer Process

Secure Mail Transmission Protocol.

Systematic Mail Transmission Protocol - Explanation

Q.No: 117 What is the purpose of an intranet firewall?

Enhance internet speed

Connect to external networks

Restrict internal communication

Ensure secure internal communication

Q.No: 118 What is the primary difference between a single-
user OS and a multi-user OS?

Single-user OS is more expensive than multi-user OS.

Single-user OS is more secure than multi-user OS.

Single-user OS is designed for personal computers, while
multi-user OS is designed for large servers.

Single-user OS allows only one user to access the system
at a time, while multi-user OS allows multiple users
simultaneously.

Not Answered

Q.No: 119 Which of the following is a non-volatile memory?

Cache Memory

RAM

DRAM

HDD

Q.No: 120 An antivirus is _______.

Program code

Computer

Application software

Hardware

Q.No: 121 Which of the following is twice the size of A4 paper?

A0 A0

A8 A8

A1 A1

A3 A3

Q.No: 122 In computers, what does the phrase "software" mean?

Peripheral devices



Peripheral devices

Physical components of a computer

Storage devices

Programs and applications

Q.No: 123 Which of the following software applications
would be the most appropriate for performing
numerical and statistical calculations?

Database

Spreadsheet

PowerPoint

Graphics package

Q.No: 124 What is the role of regular software updates in computer
security?

Providing new computer features

Improving keyboard functionality

Enhancing printer performance

Fixing security vulnerabilities

Q.No: 125 _______ is the transmission of data between
two or more computers over communication
links.

Networking

Data networking

Data communication

Communication

Section - VI (General Science)

Q.No: 126 Name the plant that belongs to the division
Thallophyta that is the source of litmus solution.

Red cabbage

Turmeric

Lichen

Rose

Q.No: 127 Ohm's Law states _____

The potential difference across the ends of a
resistor is not directly proportional to the
current through it, provided its temperature
remains the same.

The potential difference across the ends of a
resistor is directly proportional to the current
through it, provided its temperature remains
the same.

The potential difference across the ends of a
resistor is directly disproportional to the
current through it, provided its temperature
remains the same.

The potential difference across the ends of a
resistor is not connected to the current
through it

Not Answered

Q.No: 128 Which of the
following
processes
does NOT
directly
contribute to
the
maintenance
of
homeostasis
in an
organism?

Nervous system control

Behavioral adaptations

Cellular respiration

Waste elimination

Q.No: 129 The amount of electric charge that
flows through a particular area in
unit time is ________

Electric transformer

Electric Volt

Electric current

Electric shock

Q.No: 130 Which metal has the lowest melting point?

Mercury

Oxygen

Sulphur

Carbon

Q.No: 131 What color of light has the longest wavelength?

Green

Red

Violet

Blue

Q.No: 132 What is the consequence of hypertension?

Decreased resistance to blood flow

Arteriole dilation

Rupture of an artery and internal bleeding

Increased blood flow

Q.No: 133 What is the purpose of the extracellular
machinery that is produced during DNA
replication?

To organize cellular structure for maintaining life
processes

To store genetic information

To speed up DNA copying reactions

To increase the size of the cell

Q.No: 134 Which is the device that does not
use current-carrying conductors and
magnetic fields?

Transformers

Electric Iron box

Vernier caliper

Generator

Q.No: 135 Organisms classified as halophiles belong to the kingdom
_______

Fungi

Monera

Plantae

Protista

Q.No: 136 Which of these is NOT a part of Natural
Resources Management practices?

Pollution control

Restoration of the ecosystem

Deforestation for agricultural expansion

Conservation of Wildlife

Q.No: 137 How does Amoeba ingest and digest its food?

Using temporary finger-like extensions

Direct absorption through the cell wall

Through specialized mouthparts

Through its hands

Q.No: 138 Bio mass is a _________ source of energy.

Chemical

Non-Renewable

Renewable

Kinetic

Q.No: 139 A sample of ctenophores will exhibit

radial symmetry

bilateral symmetry

lateral symmetry

Asymmetry

Not Answered

Q.No: 140 Anything that has mass and takes up space is called
___________

Solid

Metal

Matter

Article

Q.No: 141
Ozone hole refers to

A phenomenon observed only in the tropics

A region with unusually low ozone concentrations

A region with unusually high ozone concentrations

A phenomenon observed only in the temperate

Q.No: 142 Which of the following does NOT
contribute to water pollution?

Constructing dams across rivers

Adding of undesirable substances to water-bodies.

Allowing the floating of dead bodies of cattle down
the river

Direct discharge of industry wastes to water bodies

Q.No: 143 The main function of the axon in a neuron ____________

Converting impulse into chemicals

Transmitting energy impulses

Transmitting electrical impulses

Acquiring information

Q.No: 144 What is the formula for the
compound copper(II) oxide,
which is created when
copper combines with
oxygen?

Cu2O Cu2O

CuO2 CuO2

CuO CuO

CuO3 CuO3

Not Answered

Q.No: 145 Where does photosynthesis take place primarily in plant
cells?

Guard cell

Nucleus

Endoplasmic reticulum

Chloroplast

Q.No: 146 Among the following options given
below, which is not inherited from the
previous generation?

Common basic body design

Newly created differences

The ability to speak Foreign Language

Subtle body changes in the body

Q.No: 147 Why are thermal power facilities located near
coal or Oil reserves advantageous in terms of
efficiency?

Lower transmission costs

Inefficiency in electricity transmission

Reduced environmental impact

Higher energy output

Q.No: 148 What is the general formula for the reaction between a metal
oxide and an acid?

Not Answered

Q.No: 149 Which one of the following shows the correct relationship
in terms of reactivity?

K > Ca > Na K > Ca > Na

Na > Ca > K Na > Ca > K

K > Na > Ca K > Na > Ca

Ca > K > Na Ca > K > Na

Not Answered

Q.No: 150 Which of the following is not a method of asexual
reproduction in animals?

Pollination

Fragmentation

Binary fission

Budding
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Section - I (English)

Q.No: 1 Choose the correct question tag from the four options given, that completes the sentence logically and
grammatically:
They had arrived before dawn, ____?

had they

did they

didn't they

hadn't they

Q.No: 2 Read the following paragraph and then answer the questions given below by choosing the most appropriate option
based on what is said in the paragraph:

The Importance of Renewable Energy

The transition to renewable energy sources is crucial for mitigating climate change and reducing dependence on
finite fossil fuels. Unlike traditional energy sources, such as coal and oil, renewable energy, including solar and wind
power, generates electricity with minimal environmental impact. The development of efficient and affordable
renewable technologies is key to creating a sustainable energy future. Governments and businesses worldwide are
increasingly investing in renewable energy initiatives to achieve environmental goals and ensure a cleaner and
greener planet.

What is mentioned as crucial for mitigating climate change?

High dependence on finite fossil fuels

Ignoring renewable energy

Transition to renewable energy sources

Lack of government and business initiatives

Q.No: 3 Read the following paragraph and then answer the questions given below by choosing the most appropriate option
based on what is said in the paragraph:

The Importance of Renewable Energy

The transition to renewable energy sources is crucial for mitigating climate change and reducing dependence on
finite fossil fuels. Unlike traditional energy sources, such as coal and oil, renewable energy, including solar and wind
power, generates electricity with minimal environmental impact. The development of efficient and affordable
renewable technologies is key to creating a sustainable energy future. Governments and businesses worldwide are
increasingly investing in renewable energy initiatives to achieve environmental goals and ensure a cleaner and
greener planet.

What is mentioned as a benefit of renewable energy compared to traditional sources?

High environmental impact

Dependence on finite fossil fuels

Minimal environmental impact

Lack of efficiency

Q.No: 4 Read the following paragraph and then answer the questions given below by choosing the most appropriate option
based on what is said in the paragraph:

The Importance of Renewable Energy

The transition to renewable energy sources is crucial for mitigating climate change and reducing dependence on
finite fossil fuels. Unlike traditional energy sources, such as coal and oil, renewable energy, including solar and wind
power, generates electricity with minimal environmental impact. The development of efficient and affordable
renewable technologies is key to creating a sustainable energy future. Governments and businesses worldwide are
increasingly investing in renewable energy initiatives to achieve environmental goals and ensure a cleaner and
greener planet.

What is the key to create a sustainable energy future, according to the paragraph?

Dependence on finite fossil fuels

High environmental impact

Affordable renewable technologies

Ignoring environmental goals

Q.No: 5 Select the sentence with the correct punctuation marks.

I'm not sure: if he'd like to visit the museum tonight.

I'm not sure if he'd like to visit the museum tonight!

I'm not sure if he'd like to visit the museum tonight?

I'm not sure if he'd like to visit the museum tonight.

Q.No: 6 Choose the correct part of speech for the underlined word in each sentence.
My sister is a talented singer.

Verb

Noun

Adjective

Adverb

Q.No: 7 The synonym of the word "glory":

Factual

Bounty

Disgrace

Renown

Q.No: 8 Arrange the following jumbled sentence into a coherent order:

A. The
B. Last
C. They
D. Attended
E. Music
F. Night
G. Concert

C-D-A-E-G-B-F

C-D-A-B-E-G-F

B-F-A-D-C-E-G

A-B-E-G-C-D-F

Q.No: 9 Choose the word that means "extremely happy":

Gloomy

Melancholic

Elated

Somber

Q.No: 10 What is the single word for "A person who assists tourists and provides information about a place"?

Guide

Navigator

Tourist

Conductor

Not Answered

Q.No: 11 In the following question, a sentence has been given in Active voice. Out of the four alternatives suggested, select
the one which best expresses the same sentence in Passive voice.

The General presented us a detailed battle plan.

Presenting of a detailed battle plan was being done by the General to us.

A detailed battle plan was presented to us by the General.

The General presents us a detailed battle plan.

A detailed battle plan will be presented to us by the General.

Q.No: 12 Choose the correct option that completes the sentence logically and grammatically:
I have been waiting for you _____ an hour.

during

since

from

for

Q.No: 13 Identify the singular form of "lice".

louses

lices

louse

lice

Q.No: 14 What does the idiom "hit the books" mean?

Avoid studying

Study or start studying intensely

Read novels

Hit someone with books

Q.No: 15 What is the Synonym for "Ambiguous"?

Clear

Obvious

Certain

Unclear

Not Answered

Q.No: 16 Choose the correct article in English grammar that completes the sentence:
Priya is sitting on _____ red chair.

a

an

the

No Article Required

Q.No: 17 In which of the following sentences, the past continuous tense used?

She played the piano.

I will play tennis.

He plays the guitar.

They were playing chess.

Q.No: 18 Fill in the blank with the correctly spelled word:
The professor provided a ___________ explanation of the complex scientific theory.

comprehensive

comprehensife

comprehensiv

comprehenssive

Q.No: 19 What does the word "diligent" mean?

Lazy

Hardworking

Hasty

Idle

Not Answered

Q.No: 20 Choose the correct part of speech for the underlined word in each sentence.
She quickly completed her homework.

Adjective

Verb

Noun

Adverb

Q.No: 21 Choose the correct part of speech for the underlined word in each sentence.
The patient exhibited unusual symptoms, puzzling the doctors.

Noun

Adverb

Adjective

Verb

Q.No: 22 Choose the option that best represents the antonym of the underlined word in the sentence.
The scientist's meticulous research methods ensured accurate results.

hasty

imaginative

sloppy

creative

Not Answered

Q.No: 23 In the sentence, "My favourite subjects are maths__ science and English" which punctuation mark is used to
separate items in a series?

Comma

Period

Semicolon

Colon

Q.No: 24 Choose the correct option that completes the sentence logically and grammatically:
_____ students passed the exam.

Much

Any

Ample

Many

Q.No: 25 What is the past tense of "drink"?

drinks

drinking

drank

drink

Section - II (Odia)

Q.No: 26

Q.No: 27

Q.No: 28

Q.No: 29

Q.No: 30

Q.No: 31

Q.No: 32

Q.No: 33

Q.No: 34

Q.No: 35

Q.No: 36

Q.No: 37

Q.No: 38

Q.No: 39

Q.No: 40

Q.No: 41

Q.No: 42

Q.No: 43

Q.No: 44

Q.No: 45

Q.No: 46

Q.No: 47

Not Answered

Q.No: 48

Not Answered

Q.No: 49

Q.No: 50

Section - III (Arithmetic)

Q.No: 51 24 pencils were bought at the total
cost of Rs.240 and sold at the rate
of 96 per dozen. Find the profit or
loss percentage.

22% Loss

24% Profit

20% Loss

16% Profit

Q.No: 52 Simplify:

Q.No: 53 If you pick a letter at random
from the word "COMPUTER",
what is the probability that it
is 'E'?

Q.No: 54 A ratio equivalent to 2:3 is _____.

Q.No: 55 The mean of 15 numbers is 25. If the
mean of the first 8 numbers is 24 and
that of the last 8 numbers is 27, find the
8th number.

Not Answered

Q.No: 56 A cyclist is moving at a speed
of 25 kilometers per hour. How
far will they reach in 2 hours?

Q.No: 57 A sum of Rs.15,000 is lent out at
5% per annum simple interest for
5 years. What will be the amount
after 5 years?

Q.No: 58 A train covers a distance of 450
kilometers in 5 hours. What is
the speed of the train in meters
per second?

35 m/s 35 m/s

30 m/s 30 m/s

25 m/s 25 m/s

40 m/s 40 m/s

Q.No: 59 Simplify:

Q.No: 60 Last year the price of a television was
Rs.24,000. It has increased by 22% this
year. What is the price of the television
now?

Q.No: 61 If the cost price of an item is Rs.75 and
it is sold for Rs.100, what is the profit
percentage?

Q.No: 62 If the current age is x, then the age n
years later is _______.

xn xn

x-n x-n

x+n x+n

x/n x/n
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x/n x/n

Q.No: 63 A car was sold at a loss of Rs.1,50,000
for which the original price was
Rs.7,50,000. What was the loss
percentage?

Q.No: 64 What would be the simple interest at the
end of two years on amount Rs.1,250 at
the rate of 13.5% per year?

Q.No: 65 Rita is twice as old as Neha.
Sweta is twice as old as Rita. If
the difference between ages of
Neha and Sweta is 12 years,
find the age of Rita.

8 years

10 years

7 years

9 years

Q.No: 66 Simplify:

Q.No: 67 A can do a certain work in the same
time in which B and C together can
do it. If A and B together could do it
in 10 days and C alone in 50 days,
then B alone could do it in:

25 days

20 days

30 days

15 days

Not Answered

Q.No: 68 What is the Highest Common Factor (HCF) of 24 and
62?

Q.No: 69 What percent of 160 is 56?

Q.No: 70 If 10 men can do a piece of work in
12 days, the time taken by 12 men
to do the same piece of work will
be:

10 days

24 days

120 days

12 days

Q.No: 71 Simplify:

Q.No: 72 What is the LCM of 10, 15 and 20?

Q.No: 73 The average of five numbers is
50. If one number is included,
the average becomes 55. What
is the included number?

Q.No: 74 A recipe requires 2 cups of flour and 3 cups
of sugar. What is the ratio of flour to sugar
if both the ingredients are doubled?

Q.No: 75 If you roll a fair six-sided dice,
what is the probability of rolling
a number less than 1?

Section - IV (General Knowledge)

Q.No: 76 South Africa has 3 official capitals. Which
of the following is NOT the capital of
South Africa?

Bloemfontein

Durban

Cape Town

Pretoria

Not Answered

Q.No: 77 How many planets are there in the solar system?

Q.No: 78 Marco Polo is famous for his travels to which place?

Asia

Europe

North Pole

South America

Not Answered

Q.No: 79 When was the Simon Commission appointed?

Not Answered

Q.No: 80 What is the Official sport of Bangladesh?

Football

Hockey

Kabaddi

Cricket

Not Answered

Q.No: 81 Which Indian badminton player won a
bronze medal at 2012 London
Olympics?

P.V. Sindhu

Vishwanathan Anand

Saina Nehwal

Gita Phogat

Q.No: 82 The Brent Index is associated with which commodity?

Polished diamond

Rice

Iron & Steel

Petroleum

Not Answered

Q.No: 83 In which year did India become a Republic?

Q.No: 84 The Permanent Headquarters of SAARC is located
in _____________.

Karachi

Jakarta

New Delhi

Kathmandu

Q.No: 85 An annual programme conducted
in India, in July every year
involving more people in planting
many trees is called:

Van Mahotsav

National Bio Diversity Action Plan

Object Enrich Biodiversity

Van Ropan Karyakram

Q.No: 86 Among the given, which theory is given by
Einstein?

Gravitational Law

Law of Electrolysis

Theory of Atom

Theory of Relativity

Q.No: 87 Which among the following is the highest layer in
the Earth's atmosphere?

Ionosphere

Plasmasphere

Magnetosphere

Exosphere

Q.No: 88 What is the full form of SIM, as in a SIM card?

Self Identity Module

Self Identification Master

Subscriber Identity Module

Subscriber Integrated Master

Q.No: 89 GST came into effect from _____________.

July 2017

April 2018

September 2017

March 2016

Q.No: 90 What does 'BIS' stand for?

Bureau of Investigative Standards

Bureau of Indian Standards

Bureau of Investment Science

Business of Indian Standards

Q.No: 91 India is committed to achieve the Net Zero
emissions target by:

2050 2050

2060 2060

2070 2070

2040 2040

Not Answered

Q.No: 92 Who was the first recipient of the Rajiv Gandhi Khel
Ratna Award?

Geet Sethi

Viswanathan Anand

Leander Paes

Karnam Malleswari

Q.No: 93 Which State in India awards the Maharana Mewar
Award?

Rajasthan

Himachal Pradesh

Punjab

Gujarat

Q.No: 94 Which country supplied both fuel
and uranium to Tarapore Nuclear
Power plant in 2019?

USA

Russia

China

France

Not Answered

Q.No: 95 The author of the book Mein Kampfs:

Adolf Hitler

Jane Austen

Leo Tolstoy

Alfred Nobel

Not Answered

Q.No: 96 Who among the following was the
Home Minister during the political
integration of India and the Indo-
Pakistani War of 1947?

Sardar Vallabhbhai Patel

Pandit Madan Mohan Malviya

Bhagat Singh

Pandit Jawaharlal Patel

Q.No: 97 Where is Camp Nou- the famous football stadium,
located?

Seville

Cairo

Barcelona

Madrid

Not Answered

Q.No: 98 The recently formed Regional
Comprehensive Economic
Partnership is made up of how many
countries?

Not Answered

Q.No: 99 The Chameli Devi Jain Award is
given for outstanding
achievement in which field?

Mountaineering

Journalism

Architectural Design

Literature

Not Answered

Q.No: 100 The use of Diclofenac has led to
the near extinction of which animal
species?

Vultures

Olive ridley turtles

Falcons

Sparrows

Not Answered

Section - V (Computer Knowledge)

Q.No: 101 The shortcut key used to print the current
worksheet is:

Ctrl + Shift + F6

Ctrl + Shift + F9

Ctrl + Shift + F8

Ctrl + Shift + F12

Not Answered

Q.No: 102 What is the default filename of a PowerPoint file?

Presentation

My presentation

Presentation1

Default

Q.No: 103 The collection of
predefined design
elements and color
schemes is called
_______.

Theme

Hyperlink

Feature

Formula

Q.No: 104
_____ is the first PC boot sector virus.

Computer

Flip

Mind

Brain

Not Answered

Q.No: 105 ______ is a device
that separates two or
more network
segments within one
logical network.

Repeater

Hub

Bridge

Switch

Q.No: 106 In
_______
topology,
no
computer
is
connected
to another
computer
directly
but all the
computers
are
connected
to a
central
hub.

Mesh

Star

Tree

Linear

Q.No: 107 What is the shortcut key to open the Open dialog
box?

Tab + F12

Alt + F12

Ctrl + F12

Shift + F12

Q.No: 108
What is the full form of TCP?

Transfer Common Protocol

Transport Control Protocol

Transmitted Continuous Protocol

Transmission Control Protocol

Q.No: 109 What is an operating system's main objective?

Increasing internet throughout

Managing computer software and hardware

Running applications

Creating files

Q.No: 110 Which of the following is an example of Web
Scripting virus?

Randex

Dir-2 virus

DDoS attack

Link virus

Not Answered

Q.No: 111 A light sensitive device that coverts
drawing, printed text or other images
into digital form is known as:

Scanner

OMR

Plotter

Keyboard

Q.No: 112 The first vacuum tube was invented during:

1920-1930

1930-1940

1900-1910

1940-1950

Q.No: 113 What is the term for putting an existing document
on the Intranet?

Update

Upload

Transfer

Download

Not Answered

Q.No: 114 Which of these is a non-profit domain?

.org

.in

.hmtl

.com

Q.No: 115 ______computers work by calculating the
binary digits.

Analog

General

Hybrid

Digital

Q.No: 116 Which of the following is an external command in
an MS-DOS?

DEL

EDIT

TIME

REN

Q.No: 117 From which generation computers the printers were
used :

Fourth

First

Second

Third

Q.No: 118 The main purpose of encrypting a file is
_______.

Prepare it for back-up

Easy for transferring

Reduce its size

Secure it for transmission

Q.No: 119 _______is a technology that allows
telephone calls to be made over
computer networks like the internet.

VoIP

GSM

VoLTE

CDMA

Q.No: 120 In computer language, BCD stands for:

Bilinear Coded Decimal

Binary Coded Digits

Binary Coded Decimal

Binary Constant Decimal

Q.No: 121 The second part of an email address is
known as host name or _____.

Domain name

Website

Address

User name

Q.No: 122 Which bar displays the title of
the currently open document or
application?

Scroll bar

Title bar

Tool bar

Status bar

Q.No: 123 The translator program used in assembly language
is called ?

Compiler



Compiler

Translator

Assembler

Interpreter

Q.No: 124 How many layers are present in a TCP/IP model?

7

4

6

3

Not Answered

Q.No: 125
_____is an identifier of electronic mail.

Password

Username

Email message

Email address

Section - VI (General Science)

Q.No: 126 What is a symptom of goiter, which can result from
iodine deficiency?

Short stature

Pale skin

Swollen neck

Enlarged hands

Not Answered

Q.No: 127 When sodium bicarbonate
undergoes decomposition it starts
to break down into three
compounds. Which of the following
is NOT one of them ?

Sodium carbonate

Water

Carbon dioxide

Sulphur

Q.No: 128 Use of fuse helps in _________

Saving electricity

Protecting home appliances from short-circuiting

Generating high power electricity

Stopping the flow of current when not required

Not Answered

Q.No: 129 Which one of these is an example of Vaporization?

Heating the iron

Ice when kept outside the fridge

Boiling of water

Water in the freezer

Q.No: 130
Fossil Fuels are _________ source of energy.

Kinetic

Mechanical

Renewable

Non- Renewable

Q.No: 131 The reaction between sodium
hydroxide (a base) and
hydrochloric acid can be
represented as:

Q.No: 132 Which of these regions of the Earth is most
affected by ozone layer depletion ?

Tropics

North Pole

South Pole

Temperate zone

Q.No: 133 Alkali metals are soft and can be cut with a knife
because

They are very hard and low densities

They are hard and high densities

They are very soft and high densities

They are very soft and low densities

Q.No: 134 What is the process by which a new
plant develops from a specialized
reproductive structure of the parent
plant?

Vegetative propagation

Fertilization

Cloning

Pollination

Q.No: 135 Which one of the following shows the correct
relationship in terms of reactivity?

Not Answered

Q.No: 136 Parthenogenesis means

Fertilization takes place inside of the body

Fertilization takes place outside of the body

Development of gamete with fertilization.

Development of gamete without fertilization.

Q.No: 137
The largest phylum of Animalia is

Mollusca

Arthropoda

Echinodermata

Chordata

Not Answered

Q.No: 138 Which of the following is NOT a kingdom in
the classification of organisms?

Vertebrata

Fungi

Plantae

Protista

Q.No: 139 In plants, the primary function of xylem is to
transport :

Waste products for excretion

Water and minerals absorbed from the soil.

Storage of metabolic products

Sugars produced during photosynthesis

Q.No: 140 What is Tungsten used for

Iron box

Electric wire

Washing machine

Bulb filament

Q.No: 141 The angle of incidence i and
refraction r are equal in a transparent
slab when the value of i is

Q.No: 142 Which one of the following statements
is NOT correct about the three states
of matter i.e., solid, liquid and
gaseous?

Molecules of a solid possess least energy
whereas those of a gas possess highest energy.

Gases like liquids possess definite volumes

Molecules of a solid possess vibratory motion

The density of solid is highest whereas that of
gas is lowest

Q.No: 143 What is the primary excretion
process utilized by plants, as
opposed to animals?

Transpiration for water and oxygen release

Through Blood streams

Only through dead cells

Through Special Organs

Not Answered

Q.No: 144
Which of the following is Nature's cleaner

Fertilizers

Decomposers

E-waste

Autotrophs

Q.No: 145
__________ chamber of the heart receives
oxygenated blood from the lungs.

Left ventricle

Left atrium

Right ventricle

Right atrium

Q.No: 146 What is the general formula for the water-metal
reaction?

Q.No: 147 Which of the following is an example of non-
biodegradable waste?

Paper

Wood

Food waste

Plastic

Q.No: 148 Among the options given, _________ is
an example of autotroph

Dogs

Human

Leech

Plants

Q.No: 149 _________ is the combination of sex
chromosomes in women.

Q.No: 150 What is transformer used for?

To convert low voltage A.C. into high voltage A.C

To convert chemical energy into electrical energy

To convert low voltage D.C. into high voltage D.C

To covert high voltage D.C into low voltage D.C
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Section - I (English)

Q.No: 1 What is the Synonym for "Ubiquitous"?

Abundant

Limited

Widespread

Scarce

Q.No: 2 Read the following paragraph and then answer the questions given below by choosing the most appropriate option based on
what is said in the paragraph.

The Industrial Revolution

The Industrial Revolution, which began in the 18th century, marked a significant shift from agrarian and manual labour-
based economies to industrial and machine-based economies. This period saw the introduction of steam engines, factories,
and mechanized production processes. The revolution brought about social, economic, and technological changes, leading
to urbanization and the rise of the factory system. While it fuelled economic growth, it also led to challenges such as poor
working conditions and labour exploitation.

In which century did the Industrial Revolution begin?

17th century

18th century

19th century

20th century

Q.No: 3 Read the following paragraph and then answer the questions given below by choosing the most appropriate option based on
what is said in the paragraph.

The Industrial Revolution

The Industrial Revolution, which began in the 18th century, marked a significant shift from agrarian and manual labour-
based economies to industrial and machine-based economies. This period saw the introduction of steam engines, factories,
and mechanized production processes. The revolution brought about social, economic, and technological changes, leading
to urbanization and the rise of the factory system. While it fuelled economic growth, it also led to challenges such as poor
working conditions and labour exploitation.

Which technological change is mentioned in the paragraph?

Printing press

Steam engines

Horse-drawn carts

Handloom weaving

Q.No: 4 Read the following paragraph and then answer the questions given below by choosing the most appropriate option based on
what is said in the paragraph.

The Industrial Revolution

The Industrial Revolution, which began in the 18th century, marked a significant shift from agrarian and manual labour-
based economies to industrial and machine-based economies. This period saw the introduction of steam engines, factories,
and mechanized production processes. The revolution brought about social, economic, and technological changes, leading
to urbanization and the rise of the factory system. While it fuelled economic growth, it also led to challenges such as poor
working conditions and labour exploitation.

What challenges are associated with the Industrial Revolution?

Economic growth

Poor working conditions

Urbanization

Manual labour

Q.No: 5 What is the single word for "A person who studies the Earth's structure and composition?"

Astronomer

Meteorologist

Ecologist

Geologist

Q.No: 6 Choose the correct article in English grammar, that completes the sentence:
___________ apple a day keeps the doctor away.

A

An

The

No Article Required

Q.No: 7 Choose the word that means "the quality of being honest and straightforward":

Duplicity

Fraudulence

Integrity

Deception

Q.No: 8 Choose the correct question tag from the four options given, that completes the sentence logically and grammatically:
They won't attend the meeting, ___?

do they

doesn't they

will they

won't they

Q.No: 9 Choose the correct part of speech for the underlined word in the given sentence.
She laughed at the funny joke.

Adverb

Noun

Verb

Adjective

Q.No: 10 Choose the correct singular form of "alumni".

alumnus

alumnae

alumni

alumnas

Q.No: 11 Choose the option that correctly identifies the voice of the sentence.

She sang a melodious song.

Active voice

Passive voice

Neither active nor passive

Both active and passive

Q.No: 12 The awards were distributed by the Principal. (Change to active voice)

The Principal is distributing the awards.

The awards distributed by the Principal.

The awards are being distributed by the Principal.

The Principal distributed the awards.

Q.No: 13 Choose the correct punctuation for the sentence:

"What time is it _______"

Period

Question mark

Comma

Exclamation mark

Q.No: 14 Choose the correct option that completes the sentence logically and grammatically:
I enjoy playing cricket, _____ my sister prefers playing chess.

for

so

or

but

Q.No: 15 Choose the correct part of speech for the underlined word in the sentence given below.
The scientist conducted a groundbreaking experiment in the laboratory.

Noun

Adverb

Adjective

Verb

Not Answered

Q.No: 16 Arrange the following jumbled sentence into a coherent order:
A. With
B. Friends
C. Park
D. Went
E. The
F. To
G. She
H. Her

A-E-B-G-D-F-H-C

A-H-B-F-C-G-D

G-D-F-H-C-A-E-B

G-D-F-E-C-A-H-B

Q.No: 17 Identify the antonym of 'GIANT':

Dwarf

Greedy

Blunt

Hinder

Not Answered

Q.No: 18 Identify the sentence in past continuous tense.

I am cooking dinner right now.

I cook dinner every day.

I cooked dinner last night.

I was cooking dinner last night.

Q.No: 19 Choose the correct part of speech for the underlined word in the following sentence.
The teacher spoke loudly to get everyone's attention.

Noun

Verb

Adjective

Adverb

Q.No: 20 Fill in the blank with the correctly spelled word:
The company experienced a sudden ___________ in profits.

surje

surge

surg

sarge

Q.No: 21 Choose the correct option that completes the sentence logically and grammatically:
_____ students passed the exam.

Much

Far

Many

Any

Q.No: 22 What is the past tense of "find"?

found

finding

finded

finds

Q.No: 23 What does the term "gratify" mean?

Displease

Satisfy

Disappoint

Upset

Q.No: 24 Choose the option that best represents the antonym of the underlined word in the sentence.
The children were exuberant with joy after winning the competition.

enthusiastic

cheerful

subdued

excited

Q.No: 25 What does the idiom "piece of cake" mean?

A difficult task

Something easy to do

A piece of dessert

A slice of cake

Section - II (Odia)

Q.No: 26

Q.No: 27

Q.No: 28

Q.No: 29

Q.No: 30

Q.No: 31

Q.No: 32

Q.No: 33

Q.No: 34

Q.No: 35

Q.No: 36

Q.No: 37

Q.No: 38

Q.No: 39

Q.No: 40

Q.No: 41

Q.No: 42

Q.No: 43

Q.No: 44

Q.No: 45

Q.No: 46

Q.No: 47

Q.No: 48

Q.No: 49

Not Answered

Q.No: 50

Section - III (Arithmetic)

Q.No: 51 The average of five numbers is 75. If the first
four numbers are 75, 60, 80 and 100, what is
the fifth number?

Q.No: 52 Simplify :

Q.No: 53 What is the Highest Common Factor (HCF) of 30 and
100?

10 10

5 5

3 3

6 6

Q.No: 54 A shopkeeper bought 12
notebooks at Rs.200 per dozen
and 24 pens at Rs.220 per dozen.
Then sells notebooks at 10% profit
per dozen and pens at 20% profit
per dozen. What is the combined
selling price of both?

Not Answered

Q.No: 55 If the cost price of an article is
Rs.130 and the selling price is
Rs.100, what is the loss percentage?
(Approximate)

Q.No: 56 You invest Rs.500 at an annual interest rate of 7%
compounded annually. How much will you have after 2
years?

Rs. 85.32 Rs. 85.32

Rs. 90.5 Rs. 90.5

Rs. 72.45 Rs. 72.45

Rs. 70.35 Rs. 70.35

Not Answered

Q.No: 57 A man runs 500meters in 2minutes and
30seconds. What is his average speed?
(Approximate)

Not Answered

Q.No: 58 Simplify :

Q.No: 59
The ratio of Naveen's present age to his
sister's age is 5:6. If the sum of their ages is
55, what is Naveen's sister's present age?

32 years

25 years

28 years

30 years

Not Answered

Q.No: 60 The ratio of 80 seconds to 2 hours is _____.

Not Answered

Q.No: 61
A can complete a job in 20 days, while B can
complete the same job in 80 days.How long
will they take together to finish it?

40 days

16 days

10 days

8 days

Q.No: 62 A bag contains 20 chocolates and 10
ice creams. If you draw an item, what
is the probability that it is an ice
cream?

2/3 2/3

1/3 1/3

3/4 3/4

1/4 1/4

Q.No: 63 Simplify :
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Q.No: 63 Simplify :

Q.No: 64
What should be the speed of a car that has
to travel for 140 kilometers in 2 hours?

Not Answered

Q.No: 65 In a drawer, the ratio of Pencils to Pens is
2:5. If there are 70 in total, how many
Pens are there?

Not Answered

Q.No: 66 What is 68% of 110?

Not Answered

Q.No: 67 Find the difference between compound
interest and simple interest when a
sum of 1000 is invested for 2years at
10% per annum.

Rs. 10 Rs. 10

Rs. 30 Rs. 30

Rs. 40 Rs. 40

Rs. 20 Rs. 20

Not Answered

Q.No: 68 Simplify :

Q.No: 69
The average of 25 numbers is 30. If
three numbers 40, 38 and 52 are
discarded, find the average of the
remaining numbers.(Approximate)

Not Answered

Q.No: 70 What percentage of 6 litres is 900 ml?

Q.No: 71 What is the LCM of 10, 12 and 15?

Q.No: 72
In 3 years Sharma will turn 15 years. How old
will she be 3 years from now?

15 years

11 years

18 years

12 years

Q.No: 73 A merchant buys 25 kgs of ragi for
Rs.60 per kg and sold it for Rs.1750.
What is the loss or profit percentage
made?(Approximate)

16.67% Profit

17.67% Profit

16.67% Loss

16.77% Loss

Q.No: 74
If you randomly choose a month of the year, what is the
probability that it is March?

Q.No: 75
L can finish a work in 16 days and M can do
the same work in 12 days. With help of N,
they did the work in 4 days only. Then, N
alone can do the work in how many days.

9.6 days

5.8 days

4.5 days

11 days

Section - IV (General Knowledge)

Q.No: 76 Where is Nagarahole National Park situated?

Kerala

Andhra Pradesh

Tamil Nadu

Karnataka

Q.No: 77 Which of the following gas is the principal
constituent of 'Gobar gas'?

Oxygen

Methane

Ethane

Nitrogen

Q.No: 78 What is the full form of GAAR?

Gas Anti Avoidance Rule

Global Anti Avoidance Rule

General Anti Avoidance Rule

General Anti Avoidance Ratio

Q.No: 79 When was the Fit India Movement specially aimed at
youth launched?

January 29, 2019

August 29, 2019

September 20, 2016

January 19, 2014

Not Answered

Q.No: 80 When was the East India Company incorporated in India?

November 1650

January 1566

December 1560

December 1600

Q.No: 81 What is the full-form of NATA (admissions exam)?

National Aptitude Test in Architecture

National Aptitude Test in Aeronautics

National Aptitude Test in Aerospace

National Aptitude Test in Accounting

Q.No: 82 Basketball was said to have been "invented" by which
of the following?

Dr. James Naismith

Alfred Mynn

Charles Goodyear

Coburn Haskell

Q.No: 83 When was the East India Company incorporated in India?

December 1560

November 1650

January 1566

December 1600

Q.No: 84 Who among the following proved that plants have life?

Gregor Johann Mendel

Satyendranath Bose

Acharya Jagadish Chandra Bose

Charles Darwin

Q.No: 85 Which of the following scientists discovered
telephone ?

Thomas Edison

Johannes Gutenberg

Alexander Graham bell

Karl benz

Q.No: 86 Who among the following has been
awarded Padma Vibhushan for
Medicine in 2023?

Shankar Jaikishan

Shri Laxman Pai

Dilip Mahalanabis

Antaryami Mishra

Q.No: 87 Which of the following is the
highest and final judicial tribunal
with respect to the Constitution
of India?

Supreme Court

Prime Minister of India

Parliament

President of India

Q.No: 88 Which among the following
Fundamental Rights in the Constitution
of India does not exist in current days?

Constitutional Remedies

Right to freedom

Right to work

Right to Property

Q.No: 89 The famous ancient book named "Stray Birds" was
written by:

Rabindranath Tagore

Bharatha

Panini

Nagarjuna

Q.No: 90 In acronym BRICS, S stand for:

Sudan

Sumatra

South Africa

Saudi Arabia

Q.No: 91 Which of the following river is declared
as 'National River' by the Government
of India?

Ganga

Brahmaputra

Yamuna

Narmada

Q.No: 92 How many pairs of ribs are there in a human body?

Q.No: 93 Who among
following
personalities
is the
current CEO
of Microsoft
Inc. (as of
January
2024)?

Mark Zuckerberg

Sergey Brin

Satya Nadela

Tim cook

Q.No: 94
Cristiano Ronaldo- the football legend's statue
has been installed in which Indian State?

West Bengal

Odisha

Goa

Kerala

Q.No: 95 National Bal Bhavan is an
autonomous institution. It
comes under which Ministry
of the Govt. Of India?

Ministry of Child Welfare

Ministry of Culture

Ministry of Human Resource
Development

Ministry of Education

Q.No: 96 In which of the following modern day
country was the first Modern Olympics
Games held?

London

Berlin

Paris

Athens

Q.No: 97 "Balaram Yojana" is aims to provide:

Health benefits to women

Old age pension

Agricultural credit

Scholarship

Q.No: 98 The Indira Gandhi National Open University
(IGNOU) was established by an Act of
Parliament in ______.

Q.No: 99 Who first invented the DNA fingerprinting
technique in 1984?

Alec Jeffreys

Francis Crick

Gregor Mendel

James Watson

Q.No: 100 Where is the Harish-Chandra Research
Institution, an aided institution of the
department of Atomic Energy, Government of
India?

Rajasthan

Uttar Pradesh

Bihar

Maharashtra

Section - V (Computer Knowledge)

Q.No: 101 Which of the following is not a term pertaining to E-mail?

Drafts

Powerpoint

Receiver

Sender

Q.No: 102 Workspace is a group of ______.

Columns

Worksheets

Rows

Workbooks

Q.No: 103
The WWW was invented by:

Elon Musk

Ray Tomliners

Steve Jobs

Tim Berners-Lee

Q.No: 104 Which of the following is not an internal command in
an MS-DOS?

TIME TIME

REN REN

DEL DEL

EDIT EDIT

Q.No: 105 Game Port is replaced by :

CU (CU)

LCD (LCD)

PC (PC)

USB (USB)

Not Answered

Q.No: 106 Layer-2 Switch is also called as ________.

Multiport Bridge

Multiport Hub

Multiport Switch

Multiport Repeater

Q.No: 107 The process of finding errors/bugs in the software
program is called?

Programming

Debugging

Processing

Compiling

Q.No: 108
_______ is the process of converting cipher text
to plain text.

Encryption

Conversion

Stenography

Decryption

Q.No: 109
Which of the following is not a layer in TCP/IP model?

Process layer

Physical layer

Network layer

Application layer

Q.No: 110 In computer security CIA triad, what is the full form of
CIA?

Confidentiality, Informative, Availability

Community, Integrity, Availability

Confidentiality, Integrity, Availability

Confidentiality, Integrity, Accessibility

Q.No: 111 What role does the regular updating of software
have in computer security?

To improve screen resolution

To provide new features

To increase computer storage

To fix security vulnerabilities

Q.No: 112 Which of the following options
is used to create a numbered
list in MS
Word?

Ctrl + I Ctrl + I

Ctrl + N Ctrl + N

Ctrl + U Ctrl + U

Ctrl + Alt + L Ctrl + Alt + L

Q.No: 113 ________is the science that
attempts to produce machines
that display the same type of
intelligence that humans do.

Nano technology

Artificial Intelligence

Nano science

Robotics

Q.No: 114 ______ appear at the bottom of the Excel window.

Work sheet tabs

Formula bar

Name box

Title bar

Q.No: 115 VGA stands for:

Video Graphics Adapter

Visual Graphics Adapter

Video Graphics Array

Visual Graphics Array

Q.No: 116 The process of trading goods and
items over the Internet is known as
______.

E-banking

E-trading

E-commerce

E-shopping

Q.No: 117 Which of the following
operating system do you
choose to implement a
client server network?

MS DOS

Windows 98

Windows 2000

Windows

Q.No: 118 The word computer has been derived from which of the
following language?

French

Latin

English

Greek

Q.No: 119
What does WWW stand for?

Working window web

Web window word

World wide web

World window web

Q.No: 120 The process of writing computer
instructions in a programming
language is known as:

Processing

Storing

Coding

Displaying

Q.No: 121 Which function key would you press to open the
"Excel Help" window?

F4 F4

F9 F9

F1 F1

F3 F3

Q.No: 122 How are the data organized in a spreadsheet?

Height and width

Rows and columns



Rows and columns

Lines and spaces

Layers and planes

Q.No: 123 A token-ring network is a
_______topology that sends
data in one direction
throughout a specified
number of locations by using
a token.

LAN (LAN)

WAN (WAN)

MAN (MAN)

PAN (PAN)

Q.No: 124 _______ allows you to access your e-
mail from anywhere.

Web messages

EEPROM

Weblog

Webmail interface

Q.No: 125
The address of a website is also known as:

URL

Folder

Location

Mail id

Section - VI (General Science)

Q.No: 126
Acid + Metal gives you _______.

Salt + Hydrogen gas

Only Salts

Salt+ Carbon-di-oxide

Salt + Water

Q.No: 127
Which state of matter has a defined shape and volume?

Solid

Liquid

Gas plasma

Smoke

Q.No: 128
Most of the Fungi are ______ organisms

Multitrophic

Heterotrophic

Autotrophic

Allotrophic

Q.No: 129 The SI unit of magnetic field strength (magnetic
flux density) is

Volt

Ohm

Ampere

Tesla

Q.No: 130
"Kirchhoff's Rules" belong ____ field of Science

Atomic structure

Electrical Circuits

Organic chemistry

Optics

Q.No: 131
The term used to describe a
homogeneous mixture of one or more
metals and non-metals.

Alloy

Element

Matter

Solution

Q.No: 132 Name a non metal that is a good conductor of
electricity.

Phosphor

Graphite

Sulphur

Carbon

Q.No: 133 What is Non biodegradable ?

Substances that are broken down by human interference

Substances that remain in the environment for long without
breaking down

Substances that are made by biogas

Substances in the environment that are broken down by
biological processes

Not Answered

Q.No: 134
1000 watts is equal to how many kilowatts?

Q.No: 135
Molluscs are:

Coelomates

Pseudocoelomates

Non living things

Acoelomates

Not Answered

Q.No: 136
What is the minimum required wind
speed mentioned for maintaining
the required speed of the turbine?

Not Answered

Q.No: 137
Which gland is responsible for the production of insulin?

Pituitary

Pancreas

Thyroid

Androgen

Q.No: 138
Who is considered the father of modern genetics?

Newton

Charles Darwin

Gregor Mendel

Alfred Russel Wallace

Q.No: 139 Which species has binary fission in
a certain direction with respect to
particular structures, such a whip-
like structure?

Plasmodium

Amoeba

Yeast

Leishmania

Q.No: 140
The focal length of a plane mirror is

Zero

Plane mirror don't have focal length

Infinity

Unity

Q.No: 141 What is the first byproduct of
glucose breakdown in the
cytoplasm during cellular
respiration?

Ethanol

Pyruvate

Lactic acid

Carbon dioxide

Q.No: 142 A bee sting causes pain and irritation due to the
injection of what substance?

Formic acid

Nitric acid

Hydrochloric acid

Sulfuric acid

Q.No: 143 Why is cell-by-cell division considered
impractical in many carefully
organized multi-cellular organisms?

Inability of cells to specialize

Complexity of tissue and organ organization

Random distribution of cell functions

Lack of growth potential in cells

Not Answered

Q.No: 144 Which one of the following shows the correct
relationship in terms of reactivity?

Not Answered

Q.No: 145 The Recommended Dietary Allowances
(RDAs) for adolescents differ from
minimum dietary requirements because
they:

Focus on specific nutrients rather than overall
calorie intake.

Consider individual factors like age, activity level,
and sex.

Are only recommendations and not strictly
necessary.

Are static values and don't adapt to changing
needs.

Q.No: 146 The main purpose of the heart is to _______.

Transportation of oxygen and carbon dioxide

Removal of carbondioxide only

Synthesis of blood cells

Removal of oxygen from the blood

Q.No: 147 The most rapidly dwindling natural resource in the
world is:

Wind

Sunlight

Water

Forest

Q.No: 148
Which of the following is a renewable source of energy?

Electricity

Nuclear power

Water

Power Vehicles

Q.No: 149 What is the role of capillaries in the
vascular system?

Carry the blood away from the heart

Carry blood, nutrients and oxygen to the cells
in your organs and body system.

To control blood pressure

To control the blood sugar

Q.No: 150
What is the unit of measurement of ozone?

Newton

Meter

Candela

Dobson
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Section - I (English)

Q.No: 1 Choose the word that means "having mixed feelings or contradictory ideas about something":

Ambivalent

Decisive

Resolute

Confident

Q.No: 2 Read the following paragraph and then answer the questions given below by choosing the most appropriate option
based on what is said in the paragraph

Sustainable Agriculture

Sustainable agriculture focuses on practices that maintain the health of the soil, ecosystems, and people involved in
food production. Unlike conventional farming, which often relies heavily on chemical inputs, sustainable agriculture
promotes organic farming methods, crop rotation, and integrated pest management. It aims to create a balance
between meeting current agricultural needs and preserving resources for future generations.

What does conventional farming often rely on?

Organic farming methods

Integrated pest management

Chemical inputs

Crop rotation

Q.No: 3 Read the following paragraph and then answer the questions given below by choosing the most appropriate option
based on what is said in the paragraph

Sustainable Agriculture

Sustainable agriculture focuses on practices that maintain the health of the soil, ecosystems, and people involved in
food production. Unlike conventional farming, which often relies heavily on chemical inputs, sustainable agriculture
promotes organic farming methods, crop rotation, and integrated pest management. It aims to create a balance
between meeting current agricultural needs and preserving resources for future generations.

What does sustainable agriculture promote?

Heavy reliance on chemicals

Conventional farming

Organic farming methods

Monoculture

Q.No: 4 Read the following paragraph and then answer the questions given below by choosing the most appropriate option
based on what is said in the paragraph

Sustainable Agriculture

Sustainable agriculture focuses on practices that maintain the health of the soil, ecosystems, and people involved in
food production. Unlike conventional farming, which often relies heavily on chemical inputs, sustainable agriculture
promotes organic farming methods, crop rotation, and integrated pest management. It aims to create a balance
between meeting current agricultural needs and preserving resources for future generations.

How does sustainable agriculture aim to preserve resources?

Heavy use of chemical inputs

Crop rotation

Monoculture

Excess use of resources

Q.No: 5 Choose the correct option that completes the sentence logically and grammatically:
Sheela was so excited about her birthday that she ________ about it for weeks.

talks

talking

talked

has talks

Q.No: 6 Identify the plural form of "box".

boxses

box

boxes

boxs

Q.No: 7 Choose the correct option that completes the sentence logically and grammatically:
I don't have ______ money.

for

much

many

little

Q.No: 8 What is the Synonym for "Cacophony"?

Discord

Serenity

Melody

Harmony

Q.No: 9 Choose the correct article in English grammar, that completes the sentence:
I broke _____ vase my mother brought.

a

an

the

No Article Required

Q.No: 10 Choose the correct part of speech for the underlined word in the sentence given below.
The scientist conducted a groundbreaking experiment in the laboratory.

Verb

Adjective

Noun

Adverb

Q.No: 11 Choose the option that correctly identifies the voice of the sentence.

The delicious cake was baked by my mother.

Both active and passive voice

Neither active voice nor passive voice

Passive voice

Active voice

Q.No: 12 What is the past tense of "wear"?

wore

wear

wearing

worn

Q.No: 13 What does the word "happy" mean?

Tired

Joyful

Sad

Angry

Q.No: 14 Choose the correct part of speech for the underlined word in the given sentence.
The old book had a musty smell.

Adjective

Verb

Adverb

Noun

Q.No: 15 Choose the correct question tag from the four options given, that completes the sentence logically and grammatically:
We don't often cook, ___?

don't we

has we

haven't we

do we

Q.No: 16 Identify the past tense of the underlined word in the given sentence:
I wish I could fly like a bird!

Wishing

Wished

Wishes

Will wish

Q.No: 17 Fill in the blank with the correctly spelled word:
The detective carefully examined the crime scene for any ___________ evidence.

incrimnating

incriminating

incrymminating

incrimminatin

Q.No: 18 Choose the correct part of speech for the underlined word in the sentence.
They watched a movie yesterday.

Adjective

Adverb

Verb

Noun

Q.No: 19 Arrange the following jumbled sentence into a coherent order:
A. Exciting
B. A
C. They
D. Watched
E. And
F. Thrilling
G. An
H. Movie

B-A-E-G-F-H-C-D

C-D-G-A-E-B-F-H

C-D-B-A-F-H-E-G

C-D-G-F-E-B-A-H

Q.No: 20 What does the idiom "once in a blue moon" mean?

To do something very rarely

To calm down

To see a blue moon

To be very expensive

Q.No: 21 Choose the option that best represents the antonym of the underlined word in the sentence.
The artist created a macabre painting that was both fascinating and disturbing.

annoying

pleasing

irritating

pesky

Q.No: 22 Which punctuation mark is used to separate the list items?

Colon

Dash

Comma

Semicolon

Q.No: 23 Choose the correct term for "A person who designs buildings."

Geologist

Architect

Contractor

Carpenter

Q.No: 24 Fill in the blanks with a suitable preposition to complete the sentence.
I knew there was someone standing _____ me.

over

between

under

behind

Q.No: 25 I'm cooking a meal. (Change to passive voice)

A meal is cooking by me.

A meal is to be cooked by me today.

A meal has to be cooked by me.

A meal is being cooked by me.

Section - II (Odia)

Q.No: 26

Q.No: 27

Q.No: 28

Q.No: 29

Q.No: 30

Q.No: 31

Q.No: 32

Q.No: 33

Q.No: 34

Q.No: 35

Q.No: 36

Q.No: 37

Q.No: 38

Q.No: 39

Q.No: 40

Q.No: 41

Q.No: 42

Q.No: 43

Q.No: 44

Q.No: 45

Q.No: 46

Q.No: 47

Q.No: 48

Q.No: 49

Q.No: 50

Section - III (Arithmetic)

Q.No: 51 A tennis player serves a ball at a
speed of 180 km/h. What distance
will the ball cover in 2 seconds?

Q.No: 52
The average of 18 numbers is 22. If each number is
increased by 8, what will the new average be?

30 30

29.5 29.5

15 15

31 31

Q.No: 53 Time taken by A to finish a
piece of work is twice the time
taken by B and thrice the time
taken by C. If all three of
them work together, it takes
them 2 days to complete the
entire work. How much work
was done by B alone?

2 days

5 days

3 days

6 days

Q.No: 54
Simplify:

Q.No: 55 Simplify:

Q.No: 56 A can complete a task in 15
days, and A and B together
can complete the same task
in 9 days.
How many days will it take B
to complete the task alone?

15 days

9 days

22.5 days

42.5 days

Q.No: 57 What is the average of the first six multiples of 4?

Q.No: 58 You borrow Rs.10,000 from a
friend to buy a bicycle. They
charge you 8% interest per
year, compounded annually.
How much will you need to
repay after 1 year?

Rs. 10,800 Rs. 10,800

Rs. 10,850 Rs. 10,850

Rs. 10,550 Rs. 10,550

Rs. 10,500 Rs. 10,500

Q.No: 59 Simplify:

Q.No: 60 What is the Least Common Multiple (LCM) of 3 and
10?

60 60

90 90

30 30

100 100

Q.No: 61 What is the simplest form of the ratio 12:24?

Q.No: 62
The ratio of A's and B's ages is 3:2. If the difference
between their ages is 4 years, what is A's age?

12 years

14 years

8 years

15 years

Q.No: 63 What is the Highest Common Factor (HCF) of 16
and 27?

3 3

1 1

4 4

7 7

Q.No: 64
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Q.No: 64 A farmer sold wheat he had grown at a profit of 18%.
The cost price was Rs.12000. How much is the total
amount he got?

Rs. 14160 Rs. 14160

Rs. 14000 Rs. 14000

Rs. 14220 Rs. 14220

Rs. 13980 Rs. 13980

Q.No: 65 The ratio of age between Balu and Pinky 5
years ago was 4:3. Balu's age 5 years ago
was 12 years. What is their current ages?

12 and 14

20 and 15

17 and 14

14 and 13

Q.No: 66 A train travels at a speed of 80
kilometers per hour. How far (in Kms)
will it travel in 3 hours?

Q.No: 67 A ratio equivalent to 6:8 is __________________.

Q.No: 68 A Basketball team played 25
matches in the tournament out of
which they won 20 matches. What
percentage of match did they
lose?

Q.No: 69 Person A incurs a loss of 20% by selling an
article for Rs.3000. At what price should the
article be sold to earn a 10% profit?

Rs. 3875 Rs. 3875

Rs. 3950 Rs. 3950

Rs. 4115 Rs. 4115

Rs. 4125 Rs. 4125

Q.No: 70 A certain sum becomes ten
times on simple interest in 20
years. What is rate percentage
per annum?

55% 55%

45% 45%

35% 35%

65% 65%

Q.No: 71 In a set of lottery tickets there are 5 tickets with
prize and 15 blank tickets. What is the probability of
getting a prize?

1/5 1/5

1/2 1/2

1/3 1/3

1/4 1/4

Q.No: 72 If the cost price of an article is Rs.75 and
the selling price is Rs.45, what is the loss
percentage?

45% 45%

50% 50%

35% 35%

40% 40%

Q.No: 73 What is 25% of 80?

Q.No: 74 Simplify:

Q.No: 75
If you roll a fair six-sided dice, what is the
probability of rolling a number greater than 2?

1/3 1/3

1/6 1/6

2/3 2/3

1/4 1/4

Section - IV (General Knowledge)

Q.No: 76 Who was the winner of the Men's 2024 singles
titles in the Australian Open?

Leander Paes

Marin Cillic

Rafel Nadal

Jannik Sinner

Q.No: 77 Which Portugese explorer discovered the sea
route to India?

John Williams

Vasco da Gama

Newton

Alfred Veil

Q.No: 78 Energy of the electron at absolute zero is
known as which of the following term?

Mechanical energy

Fermi energy

Kinetic energy

Potential energy

Q.No: 79 Which of the following scientists invented light Bulb
?

Thomas Edison

Karl Benz

Johannes Gutenberg

Alexander Graham Bell

Q.No: 80 In which of the following states we find Zuari river?

Mizoram

Kerala

Goa

Karnataka

Q.No: 81
"Sadgati" the book- on which a film was
made- was written by whom?

Harivansh Rai Bachchan

Premchand

Mahadevi Verma

Jaishankar Prasad

Q.No: 82 Sachin Tendulkar scored
his 100th international
century against which'
country?

England

Australia

Bangladesh

Pakistan

Q.No: 83 Which of the following is the capital city of New
Zealand?

Wellington

Dunedin

Auckland

Hamilton

Q.No: 84 The Fourth Five Year Plan was launched
under the leadership of:

P.V. Narasimha

Jawaharlal Nehru

Rajiv Gandhi

Indira Gandhi

Q.No: 85 The first banknote issued by independent India was
the:

One Rupee

Five Rupees

Hundred Rupees

Ten Rupees

Q.No: 86 Which of the following is not a member of BRICS?

India

South Africa

Bhutan

China

Q.No: 87 Where was India's first Metro railway started?

Calcutta (Kolkata)

Delhi

Madras (Chennai)

Bombay (Mumbai)

Q.No: 88 Who was awarded the Booker Prize in 2022?

Anuk Arudpragasam

Nadifa Mohamad

Patricia Lockwood

Shehan Karunatilaka

Q.No: 89 The Bangalore Blues Challenge Cup is associated with
which sport?

Volleyball

Basketball

Snooker

Horse Racing

Q.No: 90 Which of the following continent has largest
population in the world?

North America

Africa

Asia

Europe

Q.No: 91
FIFA World Cup 2022 was held at:

Chile

Qatar

Brazil

Italy

Q.No: 92 Where is "Sunabeda Wildlife Sanctuary" situated?

Odisha

Jharkhand

Andhra Pradesh

Bihar

Q.No: 93 Boita Bandana is a :

Buffalo festival

Cow festival

Bull festival

Boat festival

Q.No: 94 When was Reserve Bank of India first established?

1 April 1935

1 October 1937

1 January 1950

1 April 1948

Q.No: 95 What is full form of TDS ?

Tax Deducted on Sales

Tax Deducted Service

Tax Deducted At Source

Tax Deducting System

Q.No: 96 Which of the following countries ranked Number 1
in the world happiness index report 2023 ?

Japan

Finland

France

U.S.A U.S.A

Q.No: 97 Abhijnanashakuntala is a famous work of:

Bharatha

Baba Amte

Panini

Kalidasa

Q.No: 98 The Bharatmala Pariyojana is related to:

Roadways

Waterways

Airports

Forestry

Q.No: 99 In which of the following state is famous for Folk
painting " Warli Art" ?

Rajasthan

Maharashtra

West Bengal

Odisha

Q.No: 100 Which of
the
following
High Court
has the
Territorial
Jurisdiction
over
Andaman
and
Nicobar
Islands?

Delhi High Court

Calcutta High Court

Madras High Court

Port Blair High Court

Section - V (Computer Knowledge)

Q.No: 101 Which shortcut key is used to
Open the Save As dialog box in
Access?

F10 F10

F9 F9

F11 F11

F12 F12

Q.No: 102 In MS Word, the shortcut
key used to insert the
current date is_______.

Alt + Shift + T Alt + Shift + T

Alt + Shift + D Alt + Shift + D

Ctrl + Shift + D Ctrl + Shift + D

Ctrl + Shift + T Ctrl + Shift + T

Q.No: 103 Which is the standard protocol of internet?

WWW

FLASH

TCP/IP

JAVA

Q.No: 104 What role does encryption play in maintaining
computer security?

By converting data into a secure format

By deleting unnecessary files

By increasing internet speed

By sorting files alphabetically

Q.No: 105 What is the initial network communication called?

Network

APRANET APRANET

ARPANET ARPANET

Micronet

Q.No: 106 If you type a word that is not in Word's
dictionary, a wavy _________ underline
appears below the word.

Blue

Red

Green

Black

Q.No: 107 In an OS, files are
allocated disk space
using one of the
allocation methods.
This method can be
used for sequential
access files, but not
for direct access files.
What is that method
called?

Contiguous Allocation

Linked Allocation

Data fragmentation Allocation

Indexed Allocation

Q.No: 108
The maximum header size of an IP packet is _____.

128 bytes

60 bytes

40 bytes

20 bytes

Q.No: 109 The command that clear the screen is :

CLEAN CLEAN

CLEAR CLEAR

CLR CLR

CLS CLS

Q.No: 110 What does the CPU stand for?

Central Practice Unit

Computer Processing Unit

Central Processing Unit

Control Per Unit

Q.No: 111 In the context of the WWW, a bookmark
is a URI that is stored for later retrieval
in any of various storage formats. What
is the full form of URI?

Uniform Recorded Information

Universal Readable Information

United Resource Identity

Uniform Resource Identifier

Q.No: 112 The address range of Class C IP addresses:

192 to 223 192 to 223

128 to 191 128 to 191

240 to 254 240 to 254

224 to 239 224 to 239

Q.No: 113 System proposal is prepared in _____ phase of SDLC.

Design

Initiation

Analysis

Program

Q.No: 114
____ can be installed to protect yourself from
computer hacker intrusions.

Antivirus

Macro

Script

Firewall

Q.No: 115
Arrange the following in the ascending order of
their Storage:
A. Terabyte
B. Gigabyte
C. Megabyte

Q.No: 116
Which item appears dimly behind the main body text?

Water color

Water mark

Background color

Back color

Q.No: 117 E-mail addresses separate the
username from ISP using the ________
symbol

Q.No: 118 OMR stands for :

Optical Mark Record

Optical Mark Recover

Optical Method Recognition

Optical Mark Recognition

Q.No: 119 Name the file which starts MS Word?

winword.exe winword.exe

word.exe word.exe

msword.exe msword.exe

word2003.exe word2003.exe

Q.No: 120 The simultaneously
processing of two or
more programs by
multiple processors is
called ______.

Time sharing

Multitasking

Multiprogramming

Multiprocessing

Q.No: 121 Identify the correct format of an email address:

name@website.com name@website.com

name.website.com name.website.com

www.name@com www.name@com

name@website@com name@website@com

Q.No: 122 A digital signature is ________.

Encrypting information

Handwritten signature

Scanned signature

Binary signature

Q.No: 123 What is the difference between download and
upload in terms of internet speed?

They mean the same thing

Download is receiving data, upload is sending data

Download is sending data, upload is receiving data

Neither involves data transfer

Q.No: 124 The formula palette is used to:

Enter assumptions data

Create and edit formula

Copy a range of cells

Format cells containing numbers

Q.No: 125
Why is the IP address of a computer required?

To access email account

To create documents

To identify device on internet

To play music

Section - VI (General Science)

Q.No: 126 CFCs are also called

Formaldehyde

Methane

Ozone

Freons

Q.No: 127 What is the end product of the breakdown of



Q.No: 127 What is the end product of the breakdown of
pyruvate during aerobic respiration?

Water

Carbon dioxide

Lactic acid

Ethanol

Q.No: 128
Which is the strong metal commonly
used for making bulb filaments

Tungsten

Iron

Gold

Silver

Q.No: 129 Which of the following hormones is
NOT produced by the pituitary
gland?

Thyroid-stimulating hormone (TSH)

Adrenocorticotropic hormone (ACTH)

Insulin

Growth hormone

Q.No: 130
The term "t" that is expressed only when both
copies are present is called _______.

Recessive Traits

Constrasting Traits

Parental Traits

Dominant Traits

Q.No: 131 What do you mean by transparent objects?

Objects where we cannot see through

Object where we can see through

Object where we can see through but not clearly

Objects which has translucent property

Q.No: 132 How does Plasmodium, the malaria
parasite, divide its cells?

Budding

Multiple fission

Whip-like fission

Binary fission

Q.No: 133 When an acid reacts with a metal, it
typically produces a salt and hydrogen
gas. The general reaction is
__________

Q.No: 134 A person is suffering from indigestion
due to excess stomach acid. What type
of medication would be most helpful in
relieving their discomfort?

An antihistamine

An antibiotic

An antacid

A pain reliever

Q.No: 135 What is the role of specialized cells in the process of
regeneration?

Maintaining cell differentiation

Producing large numbers of cells

Initiating binary fission

Facilitating multiple fission

Q.No: 136
What is the initial land requirement for a 1 MW
generator in a wind energy farm?

Q.No: 137 Caring the blood , nutrients and oxygen
to the cells in your organs and body
system is the role of capillaries in the
__________ system.

Digestive

Vascular

Respiratory

Nervous

Q.No: 138 Which is that state of matter which
lacks either a defined volume or
defined shape?

Gas

Solid

Liquid

Metal

Q.No: 139 Which one of the following shows the correct
relationship in terms of reactivity?

Q.No: 140 What happens to the strength of the magnetic
field around a current-carrying conductor
when the current is increased?

Magnetic field Increases

Magnetic field Becomes zero

Magnetic field Remains constant

Magnetic field Decreases

Q.No: 141 Dead organisms are transformed into petroleum and
natural gas in:

presence of sunlight

presence of air

absence of air

easy transportability

Q.No: 142 Mushroom belongs to the Kingdom _____

Monera

Virae

Vegetables

Fungi

Q.No: 143 Which is the device used for
converting AC into DC is called

Rectifier

Dynamo

Induction coil

Fuse

Q.No: 144 Which of the following these is NOT an abiotic
component?

Mountains

Rainfall

Clouds

Plants

Q.No: 145 The phenomena where metals, like iron,
corrode on their surfaces after being
exposed to damp air over an extended
length of time is called ______.

Erosion

Oxidation

Rusting

Deterioration

Q.No: 146 Name two metal react so vigorously with
oxygen that they catch fire if kept in the
open?

Potassium and sodium

Aluminium and iron

Calcium and magnesium

Lead and copper

Q.No: 147 Which chamber of the heart receives oxygenated
blood from the lungs?

Left ventricle

Right ventricle

Left atrium

Right atrium

Q.No: 148
__________ is one of the causes for water pollution

Digging bore wells

Removal of undesirable substances from water-bodies

Adding of undesirable substances to water-bodies

Excessive use of water for irrigation

Q.No: 149 Which essential element is primarily
responsible for chlorophyll production in
plants?

Calcium

Silver

Nitrogen

Magnesium

Q.No: 150
Aschelminthes are ___________

Coelomates

Acoelomates

Pseudocoelomates

Triploblastic
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Section - I (English)

Q.No: 1 What does the idiom "the ball is in your court" mean?

It's your turn to take action or make a decision

Let someone else decide

A sports competition

Play ball

Q.No: 2 Read the following paragraph and then answer the questions given below by choosing the most appropriate option based on
what is said in the paragraph
The Solar System

The solar system consists of the sun and the celestial bodies that orbit it, including planets, moons, asteroids, and comets.
The sun, a massive ball of hot, glowing gases, provides light and heat to the entire system. The eight planets, including
Earth, orbit the sun in elliptical paths. Moons, such as Earth's moon, revolve around planets. Asteroids are rocky bodies, and
comets are icy bodies that travel through space.

How many planets are there as mentioned in the paragraph?

Six

Seven

Eight

Nine

Q.No: 3 Read the following paragraph and then answer the questions given below by choosing the most appropriate option based on
what is said in the paragraph
The Solar System

The solar system consists of the sun and the celestial bodies that orbit it, including planets, moons, asteroids, and comets.
The sun, a massive ball of hot, glowing gases, provides light and heat to the entire system. The eight planets, including
Earth, orbit the sun in elliptical paths. Moons, such as Earth's moon, revolve around planets. Asteroids are rocky bodies, and
comets are icy bodies that travel through space.

Which celestial body provides light and heat to the solar system?

Earth

The moon

The sun

Asteroids

Q.No: 4 Read the following paragraph and then answer the questions given below by choosing the most appropriate option based on
what is said in the paragraph
The Solar System

The solar system consists of the sun and the celestial bodies that orbit it, including planets, moons, asteroids, and comets.
The sun, a massive ball of hot, glowing gases, provides light and heat to the entire system. The eight planets, including
Earth, orbit the sun in elliptical paths. Moons, such as Earth's moon, revolve around planets. Asteroids are rocky bodies, and
comets are icy bodies that travel through space.

What are asteroids described as in the paragraph?

Icy bodies

Celestial bodies

Rocky bodies

Revolving bodies

Q.No: 5 Choose the correct part of speech for the underlined word in the sentence.
She laughed at the funny joke.

Adverb

Adjective

Verb

Noun

Q.No: 6 Choose the correct question tag from the four options given, that completes the sentence logically and grammatically:
She has visited Delhi before, ___?

has she

hasn't she

does she

did she

Q.No: 7 Choose the correct preposition in English grammar that completes the sentence:
"She lives ___ a city."

by

on

at

in

Q.No: 8 Choose the word that means "lacking in interest or excitement":

Monotonous

Stimulating

Captivating

Engaging

Q.No: 9 Which of the following sentences is punctuated correctly?

My favourite colours are black, white and, grey.

My favourite colours are black, white and grey.

My favourite colours are black white and grey.

My favourite colours are black white, and grey.

Q.No: 10 Choose the correct past tense of "take".

took

takes

taking

take

Q.No: 11 Choose the option that best represents the antonym of the underlined word in the sentence.
The mountain climber faced a daunting challenge.

Encouraging

Impossible

Intimidating

Difficult

Not Answered

Q.No: 12 What is the synonym of the word LITTLE?

Dilemma

Miniature

Peculiar

Monstrous

Q.No: 13 Choose the correct part of speech for the underlined word in the sentence given below.
The laughter echoed through the room.

Adverb

Verb

Noun

Adjective

Q.No: 14 They will paint the house next week. (Change to passive voice)

They paint the house next week.

The house will paint by them next week.

The house will be painting by them next week.

The house will be painted by them next week.

Q.No: 15 Fill in the blank with the correctly spelled word:
The chef's ___________ of spices added a unique flavor to the dish.

concoction

concockshun

concocktion

concotion

Not Answered

Q.No: 16 Choose the correct word for "A person who writes poems."

Author

Poet

Writer

Wordsmith

Q.No: 17 Which sentence is in the past tense?

I play tennis every weekend.

I am playing tennis now.

I will play tennis tomorrow.

I played tennis last weekend.

Q.No: 18 Choose the correct punctuation for the sentence:
"Are you ready, Riya ___" said Sam.

Question mark

Semi colon

Period

Comma

Q.No: 19 What does the word "serene" mean?

Calm

Agitated

Disturbed

Worried

Q.No: 20 What is the singular form of "phenomena"?

Phenomenes

Phenomenon

Phenomenas

Phenomens

Q.No: 21 Choose the correct part of speech for the underlined word in the given sentence.
The mountain climber ascended the steep peak with caution.

Noun

Adverb

Adjective

Verb

Q.No: 22 Choose the correct option that completes the sentence logically and grammatically:
The tutor asked us _____ our homework on time.

do

did

to do

doing

Q.No: 23 Arrange the following jumbled sentence into a coherent order:
A. Early
B. Went
C. She
D. To
E. School
F. The

A-B-C-D-F-E

C-B-D-E-F-A

C-B-A-D-F-E

C-B-D-F-A-E

Q.No: 24 Choose the option that correctly identifies the voice of the sentence.

The book was written by a famous author.

Active voice

Passive voice

Neither active voice nor passive voice

Both active and passive voice

Q.No: 25 Choose the correct option that completes the sentence logically and grammatically:
The train will arrive _____ 4:30 PM.

at

for

in

on

Section - II (Odia)

Q.No: 26

Q.No: 27

Q.No: 28

Q.No: 29

Not Answered

Q.No: 30

Q.No: 31

Q.No: 32

Q.No: 33

Q.No: 34

Q.No: 35

Q.No: 36

Q.No: 37

Q.No: 38

Q.No: 39

Q.No: 40

Q.No: 41

Q.No: 42

Q.No: 43

Not Answered

Q.No: 44

Q.No: 45

Not Answered

Q.No: 46

Q.No: 47

Q.No: 48

Q.No: 49

Not Answered

Q.No: 50

Section - III (Arithmetic)

Q.No: 51 How many kilometers will a car travel if it goes at a
speed of 70 kilometers per hour for 2 hours?

100 km 100 km

80 km 80 km

140 km 140 km

35 km 35 km

Q.No: 52 Simplify :

Q.No: 53 The ratio of Vikram's present age to his
brother's age is 6:5. If the sum of heir ages is
77, what is Vikram's present age?

42 years

38 Years

35 Years

40 Years

Q.No: 54 What percentage of 8 kilograms is 600 grams?

Q.No: 55 In a basket, the ratio of Kiwis to Raspberries
is 4:3. If there are 63 in total, how many
Kiwis are there?

Q.No: 56 A bag contains 5 red balls, 3 pink balls and 2
green balls. If you draw a ball, what is the
probability that it is red?

1/2 1/2

3/10 3/10

1/5 1/5

1/3 1/3

Q.No: 57
If A can complete a project in 16 days and B
can complete the same project in 24 days,
how long will they take together to finish it?

16 days

9.6 days

12.6 days

23 days

Q.No: 58 What is the Least Common Multiple (LCM) of 4 and 14?

28 28

42 42

24 24

32 32

Q.No: 59
The average of nine numbers is 55. If each number is
multiplied by 3, what is the new average?

1485 1485

165 165

155 155

495 495

Q.No: 60 Sangam was 5 years younger than Rahul
7 years ago. If Sangam is 20 years old
now. What is Rahul's age?

30 years

25 years

20 years

15 years

Q.No: 61 If the cost price of an
article is Rs.30 and the
selling price is Rs.45,
what is the profit
percentage?

Q.No: 62 What is 30% of 90?

27 27

26 26

28 28

29 29

Q.No: 63 Find the difference between compound interest
and simple interest when a sum of 25000 is
invested for 2 years at 5% per annum.

Rs. 60.5 Rs. 60.5

Rs. 80.62 Rs. 80.62

Rs. 70.62 Rs. 70.62

Rs. 62.5 Rs. 62.5

Not Answered

Q.No: 64 Which of these ratios is NOT equivalent to 4:6?

Q.No: 65 You invest Rs.50,000 in a
fixed deposit (FD) with an
annual interest rate of 5%.
The interest compounds
annually. You decide to leave
the money untouched for 2
years. How much will you
have in your account after 2
years?

https://osssc.cbexams.com/osssccandresponsesheetapp/Challenge_item.aspx
https://osssc.cbexams.com/osssccandresponsesheetapp/view_Challenge_items.aspx
https://osssc.cbexams.com/osssccandresponsesheetapp/logout.aspx


years?

Rs. 55,125 Rs. 55,125

Rs. 55,425 Rs. 55,425

Rs. 55,325 Rs. 55,325

Rs. 55,225 Rs. 55,225

Not Answered

Q.No: 66 Simplify :

Q.No: 67 Which of the following numbers is NOT a
factor of the HCF of 20 and 100?

5 5

20 20

25 25

10 10

Q.No: 68 A shopkeeper bought 48
Rulers at Rs.100 per dozen
and 60 Erasers at Rs.60 per
dozen. Then sells Rulers at
25% profit per dozen and
Erasers at 30% profit per
dozen. What is the combined
selling price of both?

Rs. 890 Rs. 890

Rs. 900 Rs. 900

Rs. 830 Rs. 830

Rs. 800 Rs. 800

Q.No: 69
If you randomly choose a month of the year, what is the
probability that it is May?

3/4 3/4

11/12 11/12

5/6 5/6

1/12 1/12

Q.No: 70 A car travels from City A to City B at an average
speed of 60km/h and returns to City A at an
average speed of 80km/h. If the total travel time
is 7hours, what is the distance between the two
cities?

140 km 140 km

200 km 200 km

160 km 160 km

240 km 240 km

Q.No: 71 M's efficiency is three times N's
efficiency. M can finish a job in 30
days less than N. If they work
together, then in how many days
the job will be done.

10 days

2 days

11.25 days

15 days

Not Answered

Q.No: 72 Simplify :

Q.No: 73 The mean of 9 numbers is 15. If the
mean of the first 5 numbers is 17 and
that of the last 5 numbers is 14, find
the 5th number.

20 20

15.5 15.5

16 16

23 23

Q.No: 74 Simplify :

Q.No: 75 A merchant buys 12 kgs of Toor dal for
Rs.120 per kg and sold it for Rs.1200.
What is the loss or profit percentage
made? (Approximate)

16.52% Profit

16.67% Loss

16.67% Profit

16.52% Loss

Section - IV (General Knowledge)

Q.No: 76 Which the following personality was the
'Chairman' of the Drafting Committee of
the Constituent Assembly?

Jawaharlal Nehru

Dr. Rajender Parshad

M.K Gandhi

B.R Ambedkar

Q.No: 77 Which of the following hill stations is known as
"Kashmir of Odisha"?

Chandragiri

Daringbadi

Olasuni Hill

Barbil

Q.No: 78
Which is the capital city of Tamil Nadu?

Madurai

Vellore

Chennai

Salem

Q.No: 79
Which of these is considered to be the
hardest substance in the human body?

Toe Nails

Tooth Enamel

Elbow (bone) joint

Knee cap

Q.No: 80 What is full form of RAM?

Media Accreditation manage

Read access memory

Random and memory

Random access memory

Q.No: 81 In which of the following state is
largest producer of bauxite in
India?

Odisha

Bihar

Jharkhand

Chhattisgarh

Q.No: 82 Who among
the following
was the Sultan
of Delhi who is
reputed to
have built the
biggest
network of
canals in
India?

Feroze Shan Tughlaq

Qutbuddin Aibak

Alauddin Khilji

Akbar

Q.No: 83 Where is Kaziranga National Park situated?

Mizoram

Karnataka

West Bengal

Assam

Q.No: 84
Which batsman scored First double century in ODI?

Rohit Sharma

Chris Gayle

Virender Sehwag

Sachin Tendulkar

Not Answered

Q.No: 85 Which of
the
following
committee
was
assigned to
recommend
reforms in
the
insurance
sector in
India?

Malhotra Committee

Balwant Rai Mehta
Committee

Naresh Chandra
Committee

Mondal commission

Not Answered

Q.No: 86 The India
International
Science festival
(IISF) 2023 was
held in which Indian
city?

Mumbai

Faridabad

Chandigarh

Amritsar

Not Answered

Q.No: 87 Who is the current Governor of RBI (as of January
2024)?

Shaktikan das

Raghuram Rajan

Arvind Panaghariya

Arvind Subramanian

Not Answered

Q.No: 88
Almatti Dam is located in which of the following states?

Bihar

Karnataka

Odisha

Assam

Not Answered

Q.No: 89 During whose Prime Ministership was Jan-
Dhan Yojana launched?

Dr Manmohan Singh

AB Vajpayee

Narendra Modi

IK Gujral

Q.No: 90 Which of the
following metal is
commonly used as
filament for an
electrical bulb?

Gold

Brass

Tungsten

Titanium

Q.No: 91 In which year was the Nobel prize awarded for the
first time?

1911

1920

1901

1905

Q.No: 92 The scheme named
"Nua O Yuba Odisha
Nabin Odisha" is
launched by which of
the following
department ?

Sports and Youth Services

Agriculture

Science

Health

Q.No: 93 Which of the following cricket stadium is
the world's largest cricket stadium?

Greenfield International Stadium

Green Park Stadium

Eden Gardens in Kolkata

Narendra Modi Stadium

Q.No: 94 Smt. Droupadi Murmu who is the
current President of India, was the
Governor of which of the state?

Jharkhand

Odisha

Uttarakhand

West Bengal

Not Answered

Q.No: 95
Taj Mahal in Uttar Pradesh was built by:

Akbar

Shah Jahan

Babur

Jahangir

Q.No: 96 Which of the following scientists discovered
Oxygen?

J.B.Dunlop

Joseph Priestly

Alexander Fleming

Marie Curie

Not Answered

Q.No: 97
The book "Revolution 2020" was written by:

Vikram Seth

Marco polo

Chetan Bhagat

Gita Mehta

Not Answered

Q.No: 98
When did the Chauri Chaura incident take place?

1942

1940

1922

1952

Not Answered

Q.No: 99 Who among the given famous
personalities is known as "the fastest
man alive"?

Micheal phelps

Usain Bolt

Asafa Powell

Justin Gatlin

Not Answered

Q.No: 100 In the process of photosynthesis, light energy is
converted into ___.

Chemical

Physical

Kinetic

Thermal

Section - V (Computer Knowledge)

Q.No: 101 IP Address is in ______ layer.

Data Link layer

Application layer

Physical layer

Network layer

Q.No: 102
Which of the following browser is developed by
Microsoft?

Neo planet

Netscape navigator

Internet explorer

Firewall

Not Answered

Q.No: 103 What happens if you press Ctrl + Shift + F8?

Deactivates rectangular selection

Deactivates extended selection

Activates extended selection

Activates rectangular selection

Not Answered

Q.No: 104
What part of webpage should the "TITLE" tag be used
in?

The footnote

Anywhere

The head

The body

Q.No: 105 An e-mail attachment is referred to as _______.

Any document that can be attached and sent with an e-mail

The address of the receiver

The body of the e-mail

The address of the sender

Q.No: 106 Which operating system does not support long file
names?

Windows 98

OS/2

DOS 6.2

Windows NT

Not Answered

Q.No: 107
To hide the identity of the recipients in an e-mail, which
field is suitable?

Bcc

From

Cc

To

Q.No: 108
The first PC boot sector virus was developed in the year
_____.

1971

1986

1987

1968

Not Answered

Q.No: 109
Which of the following is not a type of threats on the
security of a computer system or network?

Interruption

Fabrication

Creation

Interception

Q.No: 110
_______ is any data or instructions entered into the
memory of a computer.

Output

Data

Input

Instructions

Q.No: 111
MS Excel provides the default value for step
in Fill Series dialog box:

5

4

1

0

Not Answered

Q.No: 112
PCs are considered as _______ generation and contain
microprocessors.

Fourth

First

Fifth

Third

Q.No: 113

______ is a form of virus explicitly designed to hide
itself from detection by antivirus software.

Retro virus

Parasitic virus

Stealth virus

Macro virus

Q.No: 114 In simple parity check method, what is
to be done if a block contains odd
number of 1's?

0 is multiplied to the block

1 is added to the block

1 is multiplied to the block

0 is added to the block

Not Answered

Q.No: 115 A hybrid computer is the one having the combined
properties of:

super and mini computers

analog and digital computers

super and micro computers

mini and micro computers

Not Answered

Q.No: 116 Name the type of software in MS Word.

System software

Application software

Compiler software

Programming software

Q.No: 117 Command interpreter is also known as ______.

Prompt

Command

DOS Prompt

Shell

Not Answered

Q.No: 118 In Microsoft PowerPoint, two kinds of
sound effect files can be added to the
presentation are:

Not Answered

Q.No: 119



Mesh

Star

Hybrid

Ring

Not Answered

Q.No: 120 DNS stands for:

Dream Net Stream

Domain Nil Storage

Domain Name System

Drone Note System

Not Answered

Q.No: 121 Which is used to store firmware?

RAM

ALU

ROM

CU

Not Answered

Q.No: 122 Which is the most common 'input device' used today?

Control unit

Scanner

Motherboard

Keyboard

Q.No: 123 Which of the following is not a computer programming
language?

C++

C

CU

C#

Q.No: 124 Which of the following is an active cell in Excel?

Range

Formula

Cell address

Current cell

Not Answered

Q.No: 125 Junk e-mail is also known as _____.

Spam

Crap

Spool

Draft

Section - VI (General Science)

Q.No: 126 Which one of the following shows the correct
relationship in terms of reactivity?

Q.No: 127 What is Freezing?

Freezing: Phase transition from liquid to solid.

Freezing: Phase transition from solid to liquid .

Freezing: Phase transition from gas to solid.

A phase of transition from gas to liquid.

Q.No: 128 The primary reason for Spirogyra's ability
to reproduce by breaking up into smaller
pieces is to ___________.

Complexity of tissue and organ organization

Cell-by-cell division efficiency

Lack of specialized cells

Simple body organization

Q.No: 129 Caring the blood , nutrients and
oxygen to the cells in your organs
and body system is the role of
capillaries in the __________
system.

Digestive

Nervous

Respiratory

Circulatory

Q.No: 130 Among the options given, which is an example of non-
metal.

Gold

Silver

Mercury

Hydrogen

Q.No: 131 Why is community participation important
in Natural Resources Management projects?

Community participation is not an essential part of
NRM projects.

Community participation ensures exploitation of
resources without any restrictions.

Community participation can lead to privatization of
natural resources.

Community participation allows knowledge and
different perspectives in decision-making for better
protection of eco environment

Q.No: 132 Which process involves the breakdown of
complex organic molecules into simpler ones
to

Transpiration

Excretion

Photosynthesis

Respiration

Q.No: 133 The process of conversion of matter from
solid state to gaseous state directly
without forming a liquid state is known
as:

sublimation

solidification

condensation

liquefaction

Q.No: 134 Which of the following food groups is
LEAST LIKELY to contribute significantly
to iron intake in an adolescent's diet?

Fortified cereals and grains

Dairy products and eggs

Leafy green vegetables.

Lean meat and poultry

Q.No: 135 Which one of the following correctly
expresses the solution of an acid in
water or a base in water?

Q.No: 136 What is a transparent material bound by
two surfaces where one or both surfaces
being spherical called?

Television

Lens

Wood

Rainbow

Q.No: 137 Which of the following is a renewable source of energy?

Nuclear energy

Solar energy

Coal

Petroleum

Q.No: 138 What is the main difference between
"good" ozone and "bad" ozone?

Good ozone is a greenhouse gas, while bad
ozone is not.

Good ozone is found in the troposphere, while
bad ozone is found in the stratosphere.

Bad ozone protects against UV radiation, while
good ozone contributes to smog formation.

Good ozone is found in the stratosphere, while
bad ozone is found in the troposphere.

Q.No: 139 Who was the first scientist to coin the term SMOG?

Stephen Hawking

Dr Henry Antoine

Nikola Tesla

Nicolaus Copernicus

Not Answered

Q.No: 140 Gravitational pull mainly of the moon on the spinning
earth is the reason for ______

water in the sea rises and falls

increase in water resources

reduction in water resources

extinction of acquatic animals

Q.No: 141 What is the main purpose of DNA copying
during reproduction?

To provide the blueprint for building proteins with
specific functions.

To introduce variations in the DNA that can drive
evolution.

To ensure identity between parent and offspring
organisms.

To create an independent cellular apparatus for each
offspring.

Q.No: 142 Which metals react so vigorously with
oxygen that they catch fire if kept in the
open?

Iron and copper

Aluminum and zinc

Magnesium and lead

Potassium and sodium

Q.No: 143
Which of the following is a group of plants that
reproduce via seeds enclosed in a fruit?

Gymnosperms

Pteridophytes

Bryophytes

Angiosperms

Q.No: 144 What other purpose does large-scale bio-waste and
sewage material usage serve besides energy
production?

Improves soil fertility

Enhances water quality

Reduces greenhouse gas emissions

Promotes wildlife conservation

Q.No: 145 ________deflects when brought closer to a magnetic
bar

Plastic stick

Compass needle

Wooden piece

Side of the coin

Q.No: 146 Which of the following material is not a good conductor
of electricity?

Steel

Copper

Aluminum

Rubber

Q.No: 147 ___________ is the primary reason for the equal
contribution of genetic material from both the father
and mother in human inheritance.

Balanced traits

Mendelian Experiment

Genetic Diversity

Equal amounts of genetic material

Not Answered

Q.No: 148 In plants, the majority of the energy
acquired during photosynthesis is
initially stored as:

Starch

Glucose

Sucrose

Fructose

Q.No: 149
Plasmodium is an aggregation of

Dianoflagellates

Euglenoids

Chrysophytes

Slime Moulds

Not Answered

Q.No: 150 Where does the food items that are not
absorbed go after they leave the small
intestine?

Large Intestine

Liver

Stomach

Kidney
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Section - I (English)

Q.No: 1 Choose the correct article in English grammar that completes the sentence:
She is ___________ honest person.

a

an

the

No Article Required

Q.No: 2 Read the following paragraph and then answer the questions given below by choosing the most appropriate
option based on what is said in the paragraph:

The Impact of Literature on Society

Literature has a profound impact on shaping societal values, beliefs, and cultural norms. Through novels, poems,
and other literary forms, authors express ideas that resonate with readers and influence their perspectives.
Literature serves as a mirror reflecting the diversity of human experiences and provides a platform for exploring
complex themes such as love, justice, and identity. It plays a crucial role in fostering empathy, promoting critical
thinking, and connecting people across different cultures and time periods.

What does literature serve as, according to the paragraph?

A mirror reflecting diversity

A platform for promoting simplicity

A source of ignorance

A tool for avoiding critical thinking

Q.No: 3 Read the following paragraph and then answer the questions given below by choosing the most appropriate
option based on what is said in the paragraph:

The Impact of Literature on Society

Literature has a profound impact on shaping societal values, beliefs, and cultural norms. Through novels, poems,
and other literary forms, authors express ideas that resonate with readers and influence their perspectives.
Literature serves as a mirror reflecting the diversity of human experiences and provides a platform for exploring
complex themes such as love, justice, and identity. It plays a crucial role in fostering empathy, promoting critical
thinking, and connecting people across different cultures and time periods.

What does literature provide a platform for exploring?

Simple themes

Complex themes

Singular perspectives

Ignoring human experiences

Q.No: 4 Read the following paragraph and then answer the questions given below by choosing the most appropriate
option based on what is said in the paragraph:

The Impact of Literature on Society

Literature has a profound impact on shaping societal values, beliefs, and cultural norms. Through novels, poems,
and other literary forms, authors express ideas that resonate with readers and influence their perspectives.
Literature serves as a mirror reflecting the diversity of human experiences and provides a platform for exploring
complex themes such as love, justice, and identity. It plays a crucial role in fostering empathy, promoting critical
thinking, and connecting people across different cultures and time periods.

How does literature connect people across different cultures and time periods?

By promoting simplicity

By fostering empathy

By avoiding critical thinking

By limiting perspectives

Q.No: 5 Identify the suitable punctuation to complete the sentence.
The weather is beautiful today, isn't it___

Question mark

Exclamation mark

Period

Comma

Q.No: 6 Choose the correct question tag from the four options given, that completes the sentence logically and
grammatically:
She is a brilliant singer, ____?

was't she

isn't she

does she

will she

Q.No: 7 Choose the option that correctly identifies the voice of the sentence.
The scientist conducted a successful experiment.

Both active and passive voice

Passive voice

Neither active voice nor passive voice

Active voice

Q.No: 8 Choose the correct part of speech for the underlined word in the given sentence.
The scientist conducted a groundbreaking experiment in the laboratory.

Verb

Adverb

Adjective

Noun

Q.No: 9 What is the word for "A person who studies animals"?

Biotechnologist

Zoologist

Botanist

Ecologist

Q.No: 10 What is the Synonym for "Eloquent"?

Inarticulate

Reticent

Fluent

Taciturn

Q.No: 11 What is the singular form of "oxen"?

oxa

oxis

oxes

ox

Q.No: 12 Arrange the following jumbled sentence into a coherent order:
A. Hiking
B. They
C. In
D. Enjoyed
E. Lofty
F. The
G. Mountains

B-D-F-E-C-G-A

A-B-D-E-C-F-G

B-D-E-A-C-F-G

B-D-A-C-F-E-G

Q.No: 13 What does the word "benevolent" mean?

Kind

Quick

Unfriendly

Angry

Q.No: 14 Choose the correct part of speech for the underlined word in the sentence.
The moon is shining brightly in the night sky.

Adjective

Verb

Adverb

Noun

Q.No: 15 Choose the correct past tense of "begin".

begins

begun

began

beginning

Q.No: 16 Fill in the blank:
"The team ____ well but they lost the game."

is played

playing

played

is playing

Q.No: 17 Choose the correct part of speech for the underlined word in the sentence given below.
They watched a movie yesterday.

Noun

Adjective

Adverb

Verb

Q.No: 18 Which sentence is in the past perfect tense?

He is eating pizza.

We will eat soon.

They have eaten already.

She eats dinner.

Q.No: 19 The door was opened by a strong gust of wind. (Change to active voice)

A strong gust of wind opened the door.

The door opened by a strong gust of wind.

The strong gust of wind is opening the door.

The door will be opened by a strong gust of wind.

Q.No: 20 Choose the suitable prefix which will form a meaningful adjective for the given word.

Active

Mis

An

In

Im

Q.No: 21 What does the idiom "kick the bucket" mean?

Play with a bucket

Die

Take a break

Kick a ball into a bucket

Q.No: 22 Choose the correct option that completes the sentence logically and grammatically:
She is _____ to go to the party.

enough tired

much tired

to tired

too tired

Q.No: 23 Choose the option that best represents the antonym of the underlined word in the sentence.
The artist's vivid portrayal of the storm brought the scene to life.

bright

clear

dull

familiar

Q.No: 24 Fill in the blank with the correctly spelled word:
The artist used a variety of colors to create a vibrant and ___________ painting.

colorful

colurful

colurfull

coloful

Q.No: 25 Choose the correct option that completes the sentence logically and grammatically:
I will be going ____ the church in the morning.

in

to

as

at

Section - II (Odia)

Q.No: 26

Q.No: 27

Q.No: 28

Q.No: 29

Q.No: 30

Q.No: 31

Q.No: 32

Q.No: 33

Q.No: 34

Q.No: 35

Q.No: 36

Q.No: 37

Q.No: 38

Q.No: 39

Q.No: 40

Q.No: 41

Q.No: 42

Q.No: 43

Q.No: 44

Q.No: 45

Q.No: 46

Q.No: 47

Q.No: 48

Q.No: 49

Q.No: 50

Section - III (Arithmetic)

Q.No: 51 What is the LCM of 3, 5 and 7?

Q.No: 52 If 6 men and 8 boys can do a
piece of work in 10 days while
26 men and 48 boys can do
the same in 2 days, the time
taken by 15 men and 20 boys
in doing the same type of
work will be:

6 days

7 days

4 days

5 days

Q.No: 53 Simplify:

Q.No: 54 Reena invests Rs.4000 for
x years at 10% per
annum and earns Rs.500
as interest. Find the value
of x.

2 years

2.5 years

1 year

1.25 years

Q.No: 55 The ratio of 8.1 m to 90 cm is ______.

Q.No: 56 Simplify:

Q.No: 57 Person A incurs a loss of 20%
by selling an article for
Rs.5000. At what price should
the article be sold to earn a
20% profit?

Q.No: 58 If the current age is x, then n times
the age is ________.

nx nx

x / n x / n

n + x n + x

n / x n / x

Q.No: 59 Simplify:

Q.No: 60 Simplify:

Q.No: 61 Three types of apples are
mixed: Golden Delicious
(40%), Granny Smith (30%),
and Red Delicious (30%). The
average price of Golden
Delicious is Rs.20, Granny
Smith is Rs.30, and Red
Delicious is Rs.15. What is
the average price per apple in
the mix?

Rs. 6.5 Rs. 6.5

Rs. 21.5 Rs. 21.5

Rs. 21.66 Rs. 21.66
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Rs. 21.66 Rs. 21.66

Rs. 20 Rs. 20

Q.No: 62 A can complete a job in 20
days, and A and B together
can complete the same job
in 12 days. How many days
will it take B to complete
the job alone?

40 days

30 days

20 days

12 days

Q.No: 63 If the cost price of an article is
Rs.40 and the selling price is
Rs.60, what is the profit
percentage?

Q.No: 64 95 is what percentage of 190?

Q.No: 65 A shopkeeper sells a mobile
charger at a loss of 9%. If the
cost price is Rs.190, what is
the selling price?

Q.No: 66 What is the distance covered by a
car traveling at a speed of 40 kmph
in 15 minutes?

15 km 15 km

10 km 10 km

70 km 70 km

30 km 30 km

Q.No: 67 If you roll a fair six-sided dice,
what is the probability of
rolling a number greater than
1?

Q.No: 68 If Sam is 3 times as old as
his son now, and in 10
years, he will be twice as
old as his son, how old is
Sam now?

60 years

20 years

45 years

30 years

Q.No: 69 If you pick a letter at random from
the word "COMPUTER", what is the
probability that it is a consonant?

Q.No: 70 Determine the highest common factor
HCF of 16 and 20.

Q.No: 71 If you borrow Rs.5000 at a
simple interest rate of 10% per
annum for 3 years, what is the
total amount you need to
repay ?

Q.No: 72 In a competition, 40 students
have enrolled for dance and 35
enrolled for monoacting. What
is the dance to monoacting
ratio?

Q.No: 73 A train travels at a speed of 80
kilometers per hour. How many
hours will it take to travel 240
kms?

2 Hours

3 Hours

4 Hours

1 Hour

Q.No: 74 Out of 40 of strawberries in
the crate, 90% were good and
rest of them were rotten. How
many strawberries were
rotten?

Q.No: 75 The average of 10 numbers
is 23. If each number is
increased by 4, what will
the new average be?

Section - IV (General Knowledge)

Q.No: 76 Which day
is
celebrated
as
National
Small
Industry
Day in
India?

July 22

August 30

November 15

August 16

Q.No: 77 Which of the following metals is found in
liquid state?

Lithium

Potasium

Uranium

Mercury

Q.No: 78 Which of the following metal is non-toxic in
nature?

Zinc

Gold

Sodium

Mercury

Q.No: 79 Which was the first country to win the
FIFA World Cup?

Uruguay

China

Britain

France

Q.No: 80 Where is Kanha Tiger Reserve Situated?

Karnataka

Kerala

Madhya Pradesh

Odisha

Q.No: 81 Digi Yatra platform is
used by __________.

Air passengers

Metro passengers

Railway passengers

Sea travellers

Q.No: 82 Who is the author of the book "Gitagovinda"?

Jayadeva

Alberuni

Babur

Jahangir

Q.No: 83 In RT-PCR medical test, what is the expansion of
PCR?

Polymerase Crack Review

Polymerase Check Reporting

Polymerase Chain Reaction

Polymerase Chain Resuscitation

Q.No: 84 Which type of the
drainage pattern
will develop where
sedimentary rocks
have been folded
or tilted?

Canals

Gorge

River basin

Trellis

Q.No: 85 Where is the headquarters of "United
Nations Environment Programme
(UNEP)"?

Geneva

Washington DC

Nairobi

Vienna

Q.No: 86 In which of the following states of
India Narmada Bachao Movement
was started?

Jharkhand

Himachal Pradesh

Uttar Pradesh

Gujarat

Q.No: 87 Which of the following is a member of BRICS?

Bhutan

Iraq

South Africa

Canada

Q.No: 88 The famous ancient book named
"Devichandraguptam" was written by?

Baba amte

Vishakha Datta

Panini

Varharmihara

Q.No: 89 Where is the Gateway of India located?

Delhi

Hyderabad

Bangalore

Mumbai

Q.No: 90 Expand NNRMS - a national level
inter-agency system set-up in
1983.

New National Resources Management
System

National Natural Resources Management
System

National Natural Resources Migration
System

National New Radiation Management
System

Q.No: 91 Kathakali is the classical dance form of which state?

Rajasthan

Punjab

Tamil Nadu

Kerala

Q.No: 92 Which of the following
scientists invented telescope
?

Galileo Galile

Johannes Gutenberg

Karl benz

Thomas Edison

Q.No: 93 Utkala Dibasa is celebrated on:

June 1

July 1

May 1

April 1

Q.No: 94 Where is the main
campus of TIFR (Tata
Institute of Fundamental
Research) located?

Bangalore

Pune

Kolkata

Mumbai

Q.No: 95 Who is the Head of the State in the USA?

Prime Minister

Chief Justice

Chief Minister

President

Q.No: 96 Which of the following
Prime Minister coined
the popular slogan
"Jai Jawan - Jai
Kisan"?

IK Gujral

Lal Bahadur Shastri

Dr Manmohan Singh

AB Vajpayee

Q.No: 97 Which of the following cities is the
capital of Israel?

Istanbul

Ankara

Manama

Jerusalem

Q.No: 98 Oscar Awards are presented by
which of the following committees?

National Academy of Arts and Science

Academy of Motion Picture Arts and Sciences

Motion Picture House

Hollywood Foreign Picture House

Q.No: 99 How many
women Judges
are there in the
Indian Supreme
court, as of
January 2024?

Not Answered

Q.No: 100 Who among the following was the first
recipient to be awarded the Arjuna Award in
archery?

Krishna Das

Limbaa Ram

Abhishek Verma

Sandeep Kumar

Not Answered

Section - V (Computer Knowledge)

Q.No: 101
An IoT network is a collection of
______ devices.

Network to network

Machine to machine

Interconnected

Signal

Q.No: 102 The shortcut key used to refresh in
Microsoft office is :

Q.No: 103 What is the role of the kernel in a
Computer's operating system?

Manages Shutting down processes only

Managing only files and folders

Managing basic services for all other parts of the
OS

Manages Start up processes only

Q.No: 104 Which protocol provides E-Mail facility
among different hosts?

Q.No: 105 The Napier's technology used for calculation called:

Semiconductor

Rabdologia

Vibologia

Naptologia

Q.No: 106 Video Graphics Array has _____ holes.

Q.No: 107 Which agency assigns IPs?

Q.No: 108 A program in execution is called:

instruction

function

procedure

process

Q.No: 109 When a hyperlink is
created, Word formats the
Web address as?

Italicized and colored blue

Underlined and colored red

Underlined and colored blue

Italicized and colored red

Q.No: 110 FTP stands for:

File Transfer Program

File Transmitting Proctor

File Transfer Protocol

File Transfer Protection

Q.No: 111 Which class of IP is used in smaller organization?

Class D

Class A

Class B

Class C

Q.No: 112 Ctrl, Shift and Alt are called as ______.

Normal Keys

Modifier Keys

Special Keys

Numerical Keys

Q.No: 113 Which
shortcut
key is
used to
start new
paragraph
in MS
Word?

Down Cursor Key

Shift + Enter

Enter

Control + Enter

Q.No: 114 What is M-Commerce?

Market Commerce

Medical Commerce

Media Commerce

Mobile Commerce

Q.No: 115 Email was invented in which country?

America

Spain

France

Canada

Q.No: 116 Text and graphics that have
been cut or copied are stored in
an area called :

Clipboard

Pasteboard

Copyboard

Cuttingboard

Q.No: 117 Which type of device is a projector?

Input device

Output device

Disk

Digitizer

Q.No: 118 Which of the following is
independent malicious program
that need not any host
program?

Trojan horse

Time bomb

Hack bot

Worm

Q.No: 119 _____ is the malicious
software that enters a user's
computer, gathers data from
the device and user, and
sends it to third parties
without their consent.

Adware

Spyware

Backdoors

Keyloggers

Q.No: 120 What is the purpose of a modem in networking?

Manages computer files

Connects a computer to the internet

Monitors network activity

Modifies computer programs

Q.No: 121 In Access, table Row is also known as:

Data

Record

Field

Type

Q.No: 122 ________ is a
simple error
detection
method that
involves adding
an extra bit to a
data
transmission.

Checksum

CRC



Simple Parity Check

Two-dimensional Parity
Check

Q.No: 123 Identify the smallest unit of information:

Bit

Nibble

Byte

block

Q.No: 124 A set of instructions,
data or programs
used to operate
computers and
execute specific tasks
:

Software

Computer

Printer

Hardware

Q.No: 125 What function does data backup
serve in terms of computer
security?

To speed up computers

To maximise network efficiency

To make backup copies of crucial files and
guard against data loss

To encrypt network traffic

Section - VI (General Science)

Q.No: 126 _______ is a synthetic chemical

Biogas

Chlorofluorocarbons

Gobar gas

Carbondioxide

Q.No: 127 What is a main characteristic property of metals?

Non-lustrous

Good conductors of heat and electricity

Evaporate easily

Liquids at room temperature

Q.No: 128 Which component of blood is solely responsible
for its characteristic red color?

Red blood cells

Hemoglobin

Plasma

White blood cells

Q.No: 129 In human beings, fertilization carried
outside the body is called

Parthenogenesis

Regeneration

Fragmentation

In vitro fertilization

Q.No: 130 The term used for the second generation of
tall plants resulting from Mendel's F1 cross
is called?

Contrasting progeny

F2 progeny

Parental plants

F1 progeny

Q.No: 131 Which one of the following substances is a
component of natural gas?

Ethane

Acetylene

Methane

Helium

Q.No: 132 Where does the nervous system
receive information and execute
actions?

Hormones

Muscles

Sense organs

Glands

Q.No: 133 Which of these is a primary source of air pollution?

Volcanic eruptions

Ocean currents

Industrial emissions

Soil erosion

Q.No: 134 Which one of the following shows the correct
relationship in terms of reactivity?

Q.No: 135 Why do specialized cells play a
crucial role in regeneration? What
is the most likely function of these
cells?

Divide rapidly to generate a large pool of cells
for reconstruction

Directly transform into different cell types
needed for the new organism

Provide structural support for the
regenerating tissues

Secrete signaling molecules that guide the
development of regenerated structures

Q.No: 136 A phase of transition from liquid to solid is
called ___________

Evaporating

Freezing

Boiling

Melting

Q.No: 137 The reaction between hydrochloric
acid (HCl)and Zinc (Zn) can be
represented as:

Q.No: 138 When a plane mirror is
rotated through a certain
angle, the reflected ray turns
through twice as much and
the size of the image is:

Is tripled

Is halved

Does not change

Is doubled

Q.No: 139
How can autotrophic organisms meet
their energy and carbon needs?

Digestion

Respiration

Excretion

Photosynthesis

Q.No: 140 When soils are too acidic for
a particular crop, what can
be used to increase the pH
to the desired level?

Lime (calcium carbonate)

Elemental sulfur

Iron sulfate

Aluminum sulfate

Q.No: 141 Which of the following is
considered an environmentally
friendly source of energy due to its
low carbon emissions?

Petroleum

Coal

Oil

Solar energy

Q.No: 142 In which organelle does the process
of aerobic respiration, which
involves the breakdown of pyruvate
using oxygen, take place ?

Nucleus

Mitochondria

Endoplasmic reticulum

Cytoplasm

Q.No: 143 What is the form of energy that is
stored and transported within cells
during cellular respiration?

Lactic acid

ATP (Adenosine Triphosphate)

Pyruvate

Glucose

Q.No: 144 In the event of a low wind speed, what
backup facilities are recommended for
wind energy farms?

Additional Windmills

Additional wings

Storage cells

Air turbines

Q.No: 145 ________ is produced by an electric
current flowing through a conductor.

Resistance

Magnetic field

Electricity

Waves

Q.No: 146 ___________ is not a conductor of electricity.

Distilled water

Vinegar

Salt water

Lime juice

Q.No: 147 Metal that react violently with cold
water and the evolved hydrogen
catches fire

Iron

Magnesium

Copper

Sodium

Q.No: 148 Mosses are classified as

Bryophytes

Fungi

Algae

Mollusk

Q.No: 149 Penicillium belongs to the Kingdom ________

Virae

Fungi

Antibiotic

Monera

Q.No: 150 ______ is referred to as Ampere. .

The unit of electric current

The electric battery

The electric fuse

The electric voltage
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Section - I (English)

Q.No: 1 Fill in the blank with the most appropriate punctuation mark.
The students worked hard __ they were determined to succeed.

brackets

semicolon

commas

parentheses

Q.No: 2 Read the following paragraph and then answer the questions given below by choosing the most appropriate option based on what
is said in the paragraph:

The Importance of Cultural Diversity

Cultural diversity refers to the coexistence of various cultural groups within a society. It enriches communities by fostering
different perspectives, traditions, and languages. Embracing cultural diversity promotes tolerance and understanding, creating a
harmonious environment. In an interconnected world, the exchange of ideas and customs between diverse cultures contributes to
global unity and cooperation.

What does cultural diversity refer to?

Homogeneous societies

Coexistence of various cultural groups

Cultural isolation

Limited perspectives

Q.No: 3 Read the following paragraph and then answer the questions given below by choosing the most appropriate option based on what
is said in the paragraph:

The Importance of Cultural Diversity

Cultural diversity refers to the coexistence of various cultural groups within a society. It enriches communities by fostering
different perspectives, traditions, and languages. Embracing cultural diversity promotes tolerance and understanding, creating a
harmonious environment. In an interconnected world, the exchange of ideas and customs between diverse cultures contributes to
global unity and cooperation.

How does embracing cultural diversity benefit communities?

By fostering intolerance

By limiting perspectives

By creating a harmonious environment

By promoting cultural isolation

Q.No: 4 Read the following paragraph and then answer the questions given below by choosing the most appropriate option based on what
is said in the paragraph:

The Importance of Cultural Diversity

Cultural diversity refers to the coexistence of various cultural groups within a society. It enriches communities by fostering
different perspectives, traditions, and languages. Embracing cultural diversity promotes tolerance and understanding, creating a
harmonious environment. In an interconnected world, the exchange of ideas and customs between diverse cultures contributes to
global unity and cooperation.

Why is the exchange of ideas and customs mentioned as significant?

To limit cultural diversity

To foster intolerance

To create cultural isolation

To contribute to global unity and cooperation

Q.No: 5 Choose the correct part of speech for the underlined word in each sentence.
They went to the beach to relax.

Adverb

Adjective

Verb

Noun

Q.No: 6 Identify the plural form of "Boat".

Boat

Botes

Boats

Boates

Q.No: 7 Choose the correct question tag from the four options given, that completes the sentence logically and grammatically:
It's raining heavily, ____?

hasn't it

won't it

can't it

isn't it

Q.No: 8 What does the idiom "turn a blind eye" mean?

Ignore or pretend not to see something

Turn one's head

Focus on something

Close one eye

Q.No: 9 Choose the correct word for "A person who specializes in the medical treatment of mental illnesses":

Podiatrist

Physicians

Psychiatrist

Oncologist

Q.No: 10 In the sentence, "She was excited and happy __ but he seemed sad", which punctuation mark is used to connect two
independent clauses?

Period

Exclamatory mark

Comma

Colon

Q.No: 11 In the following question, a sentence has been given in Active voice. Out of the four alternatives suggested, select the one which
best expresses the same sentence in Passive voice.

To pass, the candidate has to answer at least three questions correctly.

Answering of three questions correctly by the candidate has to be done to pass.

At least three questions have to be answered correctly by the candidate to pass.

At least three questions will be answered correctly by the candidate to pass.

If the candidate answers three questions correctly then he will pass.

Q.No: 12 Choose the correct article in English grammar that completes the sentence:
Copper is ____ useful metal.

a

an

the

No Article Required

Q.No: 13 Choose the correct option that completes the sentence logically and grammatically:
The film was interesting, _____ a bit too long.

then

nor

so

but

Q.No: 14 What is the Synonym for "Exuberant"?

Sad

Depressed

Miserable

Joyful

Q.No: 15 Fill in the blank with the correctly spelled word:
It was a major __________ for the Company.

embarrasment

embarrassmint

embarassment

embarrassment

Q.No: 16 Choose the correct part of speech for the underlined word in each sentence.
We need to buy some groceries.

Adjective

Noun

Verb

Adverb

Q.No: 17 Choose the option which can substitute the below sentence:
A group of fish is called:

school

flock

gaggle

colony

Q.No: 18 Arrange the following jumbled sentence into a coherent order:

B-A-C-F-D-E-H-G

C-A-E-H-B-D-G-F

G-B-H-C-F-E-A-D

F-E-A-D-G-B-H-C

Q.No: 19 Choose the word that means "eager to learn or know":

Apathetic

Indifferent

Curious

Disinterested

Q.No: 20 Choose the correct option that completes the sentence logically and grammatically:
I would like to have ___ coffee, please.

any

an

some

by

Q.No: 21 What is the past tense of the irregular verb "eat"?

eated

eating

aten

ate

Q.No: 22 What does the word "adorn" mean?

Remove

Plain

Decorate

Strip

Q.No: 23 Choose the option that best represents the antonym of the underlined word in the sentence.
The speaker's eloquent words captivated the audience.

fluent

incoherent

blunt

mundane

Q.No: 24 Which sentence uses the past perfect continuous tense correctly?

As soon as they left, I started cleaning the house.

He told me he had finished his homework before dinner.

We watched the movie after we had eaten dinner.

I had been waiting for the bus for an hour when it finally arrived.

Q.No: 25 Choose the correct part of speech for the underlined word in each sentence.
The river flowed gently through the picturesque valley.

Verb

Adverb

Adjective

Noun

Section - II (Odia)

Q.No: 26

Q.No: 27

Q.No: 28

Q.No: 29

Q.No: 30

Q.No: 31

Q.No: 32

Q.No: 33

Q.No: 34

Q.No: 35

Q.No: 36

Q.No: 37

Q.No: 38

Q.No: 39

Q.No: 40

Q.No: 41

Q.No: 42

Q.No: 43

Q.No: 44

Q.No: 45

Q.No: 46

Q.No: 47

Q.No: 48

Q.No: 49

Q.No: 50

Section - III (Arithmetic)

Q.No: 51 The ratio of 2.5 m to 20 cm is ______.

25:2

2:25

12:2

2:12

Q.No: 52 What percent of 70 is 28?

36%

40%

45%

48%

Q.No: 53 Simplify:

Q.No: 54 If 25 workers can complete a construction
project in 20 days, how many days will it take
for 40 workers to complete the same project?

12.5 days

18.5 days

15 days

30 days

Q.No: 55 Simplify:

9 9

7 7

5.5 5.5

7.6 7.6

Q.No: 56 An employee got a 15% increase in the salary. If the
salary was Rs.25,000 then how much is the revised
salary?

Q.No: 57 What is the Least Common Multiple (LCM) of 7 and 11?

77

42

71

21

Q.No: 58 The average of seven numbers is 95. If the
sum of the first four numbers is 595, what is
the sum of the last three numbers?

665

105

70

95

Q.No: 59 A ratio equivalent to 5:6 is _______.

15:18 15:18

10:13 10:13

8:12 8:12

9:12 9:12

Q.No: 60
The average age of a group of 20 students is 25
years. The total age of these 20 students is 500
years. When 3 more students join the group, the
total age becomes 575. The average age of the new
students is?

15 years

5 years

25 years

10 years

Q.No: 61
A can finish a work in 18 days and B can do
the same work in 15 days. B worked for 10
days and left the job. In how many days, A
alone can finish the remaining work?

6 days

5.5 days

8 days

4 days

Q.No: 62
A real estate agent sells two sites for Rs.10000
each. On one he gains 25% and on the other he
loses 15%. What is his loss or gain percent?

3% Loss

1% Loss

5% Profit

8% Profit

Q.No: 63
If the cost price of an article is Rs.40 and the selling price is
Rs.55, what is the profit percentage?

Q.No: 64 What is the Highest Common Factor (HCF) of 65 and 117?

https://osssc.cbexams.com/osssccandresponsesheetapp/Challenge_item.aspx
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Q.No: 64 What is the Highest Common Factor (HCF) of 65 and 117?

13 13

39 39

9 9

5 5

Q.No: 65 A certain sum becomes four times on simple
interest in 5 years. What is the rate percent per
annum?

30%

70%

60%

40%

Q.No: 66
If you roll a fair six-sided dice, what is the
probability of rolling a number less than 4?

Q.No: 67
A cyclist rides at a speed of 18 km/h. What
distance will the cyclist cover in 48 minutes?

10.5 km 10.5 km

8 km 8 km

40 km 40 km

14.4 km 14.4 km

Q.No: 68 A scooter was sold at a loss of Rs.4000 for
which the cost price was Rs.56000. What
was the loss percentage?(Approximate)

8.00%

8.54%

7.14%

6.00%

Q.No: 69
A bus travels 180 kms in 3 hours. What is the average speed
of the bus?

540 kmph

100 kmph

60 kmph

180 kmph

Q.No: 70
Brother is 3 years younger than his sister. If
sister is 9 years old, how old is brother?

27 years

12 years

6 years

20 years

Q.No: 71 Simplify:

Q.No: 72
The average weight of a group of six girls is 52
kg. The individual weights (in kg) of five of them
are 48, 57, 50, 60, and 52. Find the weight of
the sixth girl?

54

45

52

48

Q.No: 73 Simplify:

Q.No: 74 What is the difference between simple
interest on Rs.2000 at 8% for 2 years and
simple interest on Rs.3000 at 5% for 3 years?

Rs. 125 Rs. 125

Rs. 120 Rs. 120

Rs. 130 Rs. 130

Rs. 115 Rs. 115

Q.No: 75 If you randomly select a letter from the word
"ELEPHANT", what is the probability that it is a
consonant?

3/8 3/8

3/4 3/4

5/8 5/8

1/2 1/2

Section - IV (General Knowledge)

Q.No: 76 Who has
received
the most
number of
the
"Laureus
World
Sportsman
of the
Year"
awards as
of January
2024?

Christiano Ronaldo

Lewis Hamilton

Lionel Messi

Roger Federer

Q.No: 77
SAARC Tuberculosis Centre (STC) was established in
1992 and is located in which country?

Indonesia

India

Nepal

Bhutan

Q.No: 78 Who partitioned Bengal in the year 1905?

Badruddin Tyabji

Dinshaw Wacha

Viceroy Curzon

Telang

Q.No: 79 Which of the following is the coldest place in India?

Shimla

Lachen and Thangu Valley

Spiti Valley

Dras

Q.No: 80 The smallest National Park of India is:

Keolodio National Park

Guru Ghasidas National Park

Hemis National Park

South Button Island National Park

Q.No: 81 Man Booker Prizer is given
for excellence in which of
the following fields?

Fiction writing

Journalism

Painting

Medicine

Q.No: 82 Which of the following is the largest coastal lagoon in India?

Vembanad Lake

Chilika Lake

Wular Lake

Pulicat Lake

Q.No: 83 Which of the following are the 5 original members of ASEAN?

Laos, Malaysia, Cambodia , Singapore, and USA

Indonesia, Laos, Philippines, Singapore, and Jakarta

Indonesia, Laos, Seychelles, Vietnam, and Thailand

Indonesia, Malaysia, Philippines, Singapore, and Thailand

Q.No: 84 The Prestigious
Buddhavanam Project
is a tourism project of
which of the following
state government?

Sikkim

Telangana

Maharashtra

Bihar

Q.No: 85 The Food and Agriculture Organization (FAO) is
headquartered in ________.

Sweden

Geneva

Rome

USA

Q.No: 86
Which country was India's largest trading partner
during the first half of the financial year 2023-24.

UAE

United States

Egypt

China

Q.No: 87 An initiative of 1970's aiming to stop the cutting of
trees which also suggested measures for afforestation
was the:

The Chipko Movement

Jungle Bachao Andolan

Beej Bachao Andolan

Apiko Movement

Q.No: 88
Jawahar Rojgar Yojna was launched in which of the
following Five Year Plan?

7th five-year plan

3rd five-year plan

1st five-year plan

5th five-year plan

Q.No: 89 Who is the author of the book 'wings of fire'?

Shashi aroor

Chetan hagath

Dr. Abdul Kalam

Prem Chand

Q.No: 90 Planets Mars, Mercury, Venus and Earth are called as
_______ planets.

Outer

Inner

Jovian

Gas Giant

Q.No: 91 Which act was abolished to set up the New Industrial policy
of 1991?

Indian Contract Act

Sale of goods Act

Consumer Protection Act

MRTP Act

Q.No: 92 Which country is the largest producer of Coal in year 2023?

India

USA

Australia

China

Q.No: 93 The Indian Constitution provided three list of subjects
of which the Union list and State list were two. Name
the third list?

Concurrent List

Territory List

Health List

National List

Q.No: 94 Approximately what percentage of the earth's surface is filled
with water?

Q.No: 95 Name the country that awards the Nobel Prize?

Netherlands

USA USA

Bulgaria

Sweden

Q.No: 96 Dogri language is predominantly spoken in which Union
Territory of India?

Andaman and Nicobar Islands

Jammu & Kashmir

Lakshadweep

Chandigarh

Q.No: 97 V. Shantaram was famous in which field?

Cinema

Painting

Literature

Sports

Q.No: 98 Who was the first Indian to win Grammy Awards?

Javed Akhtar

Ravi Shankar

Gulzar

A R Rahman

Q.No: 99 Suresh's I.Q. is above 100. What does I.Q. stand for?

Intelligent Quotient

Intermediate Quotient

Intelligence Quotient

Intermediate Quote

Q.No: 100 Who won the first gold medal in wrestling from India in the
Commonwealth Games?

Geeta Phogat

Sushil Kumar

Deepak Punia

K.D. Jadhav

Section - V (Computer Knowledge)

Q.No: 101 Which of the following is a valid symbol in an email address?

&

#

$

@

Q.No: 102 Name the Operating System used in Nokia mobile phones:

Symbian

Bada

Android OS

Blackberry

Q.No: 103 In excel, the shortcut key "Ctrl + Shift + %" is
used to :

Format number in percentage format

Format number in currency format

Format number in comma format

Format number in date format

Q.No: 104 Which one of the following DOS
commands sends contents of the
screen to an output device?

MORE

DISK COPY

ASSIGN

BREAK

Q.No: 105 Which can be used for quick
access to commonly used
commands and tools?

Title bar

Menu bar

Tool bar

Status bar

Q.No: 106
A network that is connected to the internet, but uses
encryption to scramble all the sent through the internet
is called :

Virtual private network

My network

Social network

Internet service provider

Q.No: 107 Which is a feature included in
Microsoft PowerPoint software
that allows the user to see all
the slides in a presentation at
one time?

Slide Header

Handout Master

Slide Master

Slide Sorter

Q.No: 108 Who invented email?

Larry Page

Vint Cerf

Tim Berners-Lee

Ray Tomlinson

Q.No: 109 How do you display current date only in MS Excel?

Time( ) Time( )

Date( ) Date( )

Today( ) Today( )

Now( ) Now( )

Q.No: 110 What is the purpose of an IP address in networking?

To play online games

To charge for internet usage

To identify a device on the network

To install software

Q.No: 111 Which of the following is the correct order of the four
major functions of a computer?

Input, Process, Output, Storage

Process, Storage, Input, Output

Input, Output, Process, Storage

Process, Output, Input, Storage

Q.No: 112 Which protocol is not an internet protocol ?

FTP FTP

HTTP HTTP

TCP TCP

STP STP

Q.No: 113 What is the purpose of the 'Task Manager' in Windows
operating systems?

Configuring system settings

Monitoring and managing the processes and applications

Checking for installed applications

Saving files

Q.No: 114 An example of a Windows-based backdoor Trojan horse:

Zango

Beast

Flip

Michelangelo

Q.No: 115 The process of hiding or coding information so that only
the person a message was intended for can read it is called
as ______________.

Cryptography

Stenography

Deformation

Hiding

Q.No: 116 Internet Protocol (IP) routers are used in which
layer?

Layer 7

Layer 3

Layer 5

Layer 2

Q.No: 117 Which is not the basic component of computer security
system?

Confidentiality

Availability

Repudiation

Integrity

Q.No: 118 The BIOS is the abbreviation of _______.

Basic Input Output Symbol

Base Input Output System

Best Input Output System

Basic Input Output System

Q.No: 119 In LAN, What does 'L' stand for?

Local

Line

Linear

Logical

Q.No: 120 Desktop and personal computers are also known as
_______________.

mainframes

supercomputers

microcomputers

servers

Q.No: 121 The maximum size of email attachment is ________ per
email.

25 MB

125 MB

50 KB

25 KB

Q.No: 122
Which item is printed at the bottom of each page

Title

Margin

Header

Footer

Q.No: 123 Which of the following produces the best quality graphics
reproduction?

Plotter

Laser printer

Ink jet printer

Dot matrix printer

Q.No: 124 _______ is the minimum header size of an IP packet.

8 bytes

14 bytes

15 bytes

20 bytes

Q.No: 125 A collection of worksheets is called:

Worksheets

Workbook

Excel sheets

Excel book

Section - VI (General Science)

Q.No: 126 What does the acronym IREDA stand for?

Indian Renewable Energy Development Agency

Indian Renewable Energy Distribution Authority

Indian Road Energy Development Authority

Indian Renewable Energy Development Authority



Q.No: 127 Which among the following laws is not related to gases?

Boyle's law

Charles's law

Hooke's law

Gay-Lussac's law

Q.No: 128
Which international agreement led to the phase-out of
CFCs?

Copenhagen Accord

Daka agreement

Montreal Protocol

Basel framework

Q.No: 129 The blue color of the sky is primarily due to:

Blue light is scattered more

Blue light is dispersed more

Blue light is refracted more

Blue light is reflected more

Q.No: 130 __________is generated by the uneven heating of
the Earth's surface by the Sun, making it a form of
solar energy.

Static energy

Nuclear energy

Wind Energy

Bio-Mass energy

Q.No: 131
Internal fertilization is typically associated with which
reproductive structures in mammals?

Oviducts

Ovaries

Testes

Abdomen

Q.No: 132 Which one of the following shows the correct relationship in
terms of

Q.No: 133 What does a pH value less than 7 indicate on the pH scale?

Neutral solution

Basic solution

Acidic solution

Alkaline solution

Q.No: 134 Which of the following is the lightest metal?

Iron

Lead

Gold

Lithium

Q.No: 135 Cartilaginous fish, such as sharks and rays, belong
to which class of fish?

Chondrichthyes

Amphibia

Osteichthyes

Fungi

Q.No: 136 Acid rain consists of:

Nitrous oxide and carbonic acid

Potassium oxide and sulphuric acid

Nitrous oxide and sulphuric acid

Nitric acid and sulphuric acid

Q.No: 137
As per the five kingdom system of biological classification,
a biologist would classify 'Neurospora' under
___________.

Phycomycetes algae

Slime Mould fungi

Ascomycetes fungi

Basidiomycetes fungi

Q.No: 138 What would happen if a genetic variation that allows for
survival benefits causes a green beetle to emerge in the
population?

The frequency of green beetles remains unchanged

The green beetles are naturally selected, and their population
increases

The green beetles become extinct

The crows selectively eat the green beetles

Q.No: 139 The main function of guard cells in leaves is to:

Control the opening and closing of stomata for gas exchange

Store starch produced during photosynthesis

Provide structural support to the leaf blade

Conduct water from the roots to the leaves

Q.No: 140 A phase of transition from gas to liquid is called
_______.

Evaporation

Freezing

Condensation

Melting

Q.No: 141 The Kidney structure that gathers the filtrate is
called ________

Alveoli

urethra

bronchioles

Bowman's capsule

Q.No: 142
In double fertilization, the male gamete and secondary
nucleus give rise to

Gamete nucleus

Egg nucleus

Endosperm nucleus

Exosperm nucleus

Q.No: 143
In India the difference between the live wire and neutral
wire is ________

Q.No: 144 What function does the heart's division into the right and
left sides serve?

To regulate body temperature

To facilitate blood pressure

To prevent mixing of oxygenated and deoxygenated blood

To control the heartbeat

Q.No: 145 Which of the following is an acid found in fruits?

Sodium hydroxide

Citric acid

Hydrochloric acid

Baking soda

Q.No: 146 What is the role of a capacitor in an electrical circuit?

It checks electricity

It stores electrical energy

It increases resistance

It regulates voltage

Q.No: 147 The Electronic configurations for Helium (He) is ________.

Q.No: 148
What is most common reasons for Heritage monuments
like Taj Mahal being affect?

Soil Erosion

Over Population

Water pollution

Air pollution

Q.No: 149 Inflammation of the liver means :

Tuberculosis

Cancer

Syphilis

Hepatitis

Q.No: 150 Electric power be defined as

The rate at which electric energy is consumed in an electric circuit

The concept of electric energy being dissipated in an electric circuit

The distance to which electric energy travels

The quantity of pressure energy consumed in an electric circuit
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Correct Option selected Wrong Option selected Correct Option Not Answered
 

Section - I (English)

Q.No: 1 Choose the correct part of speech for the underlined word in each sentence.
The novel's tangled plot captivated the readers.

Verb

Adverb

Adjective

Noun

Not Answered

Q.No: 2 Read the following paragraph and then answer the questions given below by choosing the most appropriate
option based on what is said in the paragraph

Artificial Intelligence and Ethics

The development of artificial intelligence (AI) raises ethical considerations related to the use of advanced
technologies. AI systems, capable of learning and making decisions, have the potential to impact various
aspects of human life, from healthcare to privacy. Ensuring ethical AI development involves addressing
concerns such as algorithmic bias, transparency, and accountability. Striking a balance between technological
advancements and ethical considerations is essential to harness the benefits of AI without compromising
fundamental values.

What is mentioned as a potential impact of AI on privacy?

Algorithmic bias

Transparency

Accountability

Privacy concerns

Q.No: 3 Read the following paragraph and then answer the questions given below by choosing the most appropriate
option based on what is said in the paragraph

Artificial Intelligence and Ethics

The development of artificial intelligence (AI) raises ethical considerations related to the use of advanced
technologies. AI systems, capable of learning and making decisions, have the potential to impact various
aspects of human life, from healthcare to privacy. Ensuring ethical AI development involves addressing
concerns such as algorithmic bias, transparency, and accountability. Striking a balance between technological
advancements and ethical considerations is essential to harness the benefits of AI without compromising
fundamental values.

In the passage which aspects of human life are mentioned in relation to AI?

Transparency

Healthcare

Algorithmic bias

Ignoring ethical considerations

Not Answered

Q.No: 4 Read the following paragraph and then answer the questions given below by choosing the most appropriate
option based on what is said in the paragraph

Artificial Intelligence and Ethics

The development of artificial intelligence (AI) raises ethical considerations related to the use of advanced
technologies. AI systems, capable of learning and making decisions, have the potential to impact various
aspects of human life, from healthcare to privacy. Ensuring ethical AI development involves addressing
concerns such as algorithmic bias, transparency, and accountability. Striking a balance between technological
advancements and ethical considerations is essential to harness the benefits of AI without compromising
fundamental values.

What does ensuring ethical AI development involve?

Ignoring concerns

Addressing algorithmic bias

Avoiding transparency

Disregarding accountability

Not Answered

Q.No: 5 Fill in the blank with correct article.

Do you know _______ ingredients of this recipe?

a

an

the

No Article Required

Q.No: 6 Choose the correct question tag from the four options given, that completes the sentence logically and
grammatically:
You won't forget to feed the dog this time, ____?

won't you

will you

did you

haven't you

Not Answered

Q.No: 7 What does the idiom "cost an arm and a leg" mean?

Difficult to find

Cheap

Free of cost

Expensive

Not Answered

Q.No: 8 Choose the correct option that completes the sentence logically and grammatically:
The film was interesting, _____ a bit too long.

but

not

so

and

Q.No: 9 Choose the word that means "to express an unfavorable or adverse judgment on":

Commend

Condemn

Approve

Praise

Not Answered

Q.No: 10 In the following question, a sentence has been given in Active voice. Out of the four alternatives suggested,
select the one which best expresses the same sentence in Passive voice.

The dealer will service the scooter for free the first three times.

The scooter was serviced for free by the dealer for the first three times.

For the first three times, the dealer will service the scooter for free.

The scooter will be serviced for free by the dealer for the first three times.

Servicing of the scooter for free was done by the dealer for the first three times.

Not Answered

Q.No: 11 Choose the correct part of speech for the underlined word in each sentence.
The bird sings beautifully in the morning.

Adverb

Adjective

Verb

Noun

Q.No: 12 Choose the correct punctuation for the sentence:

"The concert was fantastic _______ the audience loved it."

Period

Comma

Question mark

Colon

Q.No: 13 Choose the correct part of speech for the underlined word in each sentence.
My sister is a talented singer.

Adverb

Verb

Noun

Adjective

Not Answered

Q.No: 14 In the sentence, "I have three favourite hobbies ___ reading, hiking and painting" which punctuation mark is
used to introduce a list?

Colon

Exclamation point

Comma

Period

Not Answered

Q.No: 15 Which sentence is in the simple past tense?

She has been cooking.

He is reading a book.

We will go shopping.

They were playing outside.

Q.No: 16 What does the term "precise" mean?

Random

Inaccurate

Vague

Specific

Not Answered

Q.No: 17 Fill in the blank with the correctly spelled word:
The marathon runners faced a challenging ___________ with steep hills.

coarse

cource

coursse

course

Q.No: 18 Choose the option that best represents the antonym of the underlined word in the sentence.
Despite the tumultuous times, the community remained united.

wild

peaceful

festive

vociferous

Not Answered

Q.No: 19 Choose the correct option that completes the sentence logically and grammatically:
I am looking forward _____ the weekend.

in

to

at

by

Q.No: 20 Choose the correct term for "A person who repairs and maintains machinery."

Doctor

Consultant

Mechanic

Inventor

Q.No: 21 Arrange the following jumbled words into a coherent order:

A. Sat
B. For
C. Final
D. Up
E. The
F. Exam
G. They
H. Late
I. Preparing

I-B-E-F-G-C-A-D-H

B-I-C-F-G-A-D-H

G-A-D-H-I-B-E-C-F

B-C-E-F-G-A-D-I-H

Not Answered

Q.No: 22 Choose the correct singular form of "cacti."

Cactus

Cactees

Cactuses

Cactie

Not Answered

Q.No: 23 What is the past tense of "sleep"?

sleep

sleeps

slept

Sleeping

Q.No: 24 What is the Synonym for "Conclude"?

Initiate

End

Start

Begin

Not Answered

Q.No: 25 What is the meaning of the Idiom "In a Pickle"?

Fail in a spectacular way

In a dominant position, in control

Unaware of something

In a troublesome or difficult situation

Section - II (Odia)

Q.No: 26

Q.No: 27

Q.No: 28

Q.No: 29

Q.No: 30

Q.No: 31

Q.No: 32

Q.No: 33

Not Answered

Q.No: 34

Q.No: 35

Q.No: 36

Q.No: 37

Q.No: 38

Q.No: 39

Q.No: 40

Not Answered

Q.No: 41

Q.No: 42

Q.No: 43

Q.No: 44

Q.No: 45

Q.No: 46

Q.No: 47

Q.No: 48

Q.No: 49

Q.No: 50

Section - III (Arithmetic)

Q.No: 51 The total age of X and Y is 36 years. If X is
twice as old as Y, how old is X?

18 years

6 years

24 years

12 years

Not Answered

Q.No: 52 What percent of 200 is 60?

40% 40%

35% 35%

33% 33%

30% 30%

Not Answered

Q.No: 53 Simplify:

Not Answered

Q.No: 54 The average of 10 numbers is 35. If one
number is removed, the average becomes 40.
What is the removed number?

40 40

-20 -20

-10 -10

35 35

Not Answered

Q.No: 55 Simplify:

Not Answered

Q.No: 56 The Least Common Multiple (LCM) of 16
and 24 is _____.

32 32

24 24

48 48

64 64

Not Answered

Q.No: 57 Simplify:

Not Answered

Q.No: 58 A car depreciates in value at a rate of 10%
per year. If the initial value of the car is
Rs.2,00,000, what will be its value after 3
year?

Rs. 125800 Rs. 125800

Rs. 145800 Rs. 145800

Rs. 135800 Rs. 135800

Rs. 115800 Rs. 115800

Not Answered

Q.No: 59 If A and B together can complete a
task in 16 days and B alone can
complete the same task in 24 days,
in how many days can A alone
complete the work?

16 days

36 days

48 days

12 days

Not Answered
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Q.No: 60
If you roll a fair six-sided dice, what is the
probability of rolling a number greater than 6?

1/6 1/6

0 0

1 1

1/2 1/2

Not Answered

Q.No: 61 Traveling at a speed of 50 kmph, how
long is it going to take to travel 60
km?

2 hours

55 minutes

1 hour 12 minutes

2 hours 5 minutes

Not Answered

Q.No: 62 An agent bought a plot
for Rs.1,00,000 and sold
it at Rs.1,15,000. What
percentage of profit did
he make?

Not Answered

Q.No: 63 If you pick a letter at random from the
word "FEDERAL," what is the probability
that it is a vowel?

5/8 5/8

3/8 3/8

1/3 1/3

1/2 1/2

Not Answered

Q.No: 64 What is the Highest Common Factor (HCF) of 72
and 90?

12 12

18 18

15 15

9 9

Not Answered

Q.No: 65 Simplify:

Not Answered

Q.No: 66
The average of 5 consecutive numbers is
25. What is the largest of these numbers?

115 115

27 27

23 23

24 24

Not Answered

Q.No: 67 Which of these ratios is NOT equivalent to 4:8?

Not Answered

Q.No: 68 A ratio equivalent to 3:7 is ________.

Not Answered

Q.No: 69 Calculate the simple interest
on Rs.5000 for 15 months at 6
paise per rupee per month.

Rs. 3,500 Rs. 3,500

Rs. 4,500 Rs. 4,500

Rs. 5,500 Rs. 5,500

Rs. 6,500 Rs. 6,500

Not Answered

Q.No: 70 A cyclist covers a distance of 50
kilometers in 2 hours. What is the
speed of cyclist?

0.5 kmph 0.5 kmph

30 kmph 30 kmph

25 kmph 25 kmph

100 kmph 100 kmph

Not Answered

Q.No: 71 120 pens were bought at the total cost of
Rs.600 and sold at the rate of 48 per
dozen. Find the profit or loss percentage

18% Loss

25% Profit

22% Profit

20% Loss

Not Answered

Q.No: 72 If the cost price of an article is Rs.150
and the selling price is Rs.180, what is
the profit percentage?

25% 25%

29% 29%

20% 20%

22% 22%

Not Answered

Q.No: 73 Five years ago, Meena was half her
current age. How old is she now?

15 years

10 years

20 years

18 years

Not Answered

Q.No: 74 A can do a piece of work in 4
hours; B and C together can do it in
3 hours, while A and C together can
do it in 2 hours. How long will B
alone take to do it?

10 hours

12 hours

24 hours

11 hours

Not Answered

Q.No: 75 Last year the price of
a laptop was
Rs.38,000. It has
increased by 20% this
year. What is the
price of the laptop
now?

Not Answered

Section - IV (General Knowledge)

Q.No: 76 Mahatma Gandhi took up the Khilafat issue to:

To empower

Stop violence

Strengthen the Muslims

Unite Hindus and Muslims together

Q.No: 77 The Uranium Corporation of
India Limited (UCIL) was set
up by the Government of
India in the
year______________.

1981

1979

1967

1955

Not Answered

Q.No: 78 Which Article of the
Indian Constitution
recognizes Hindi as
the Official language
of the Central
Government of India?

Article 321

Article 343

Article 312

Article 340

Q.No: 79 Narora Atomic Power Station is found in which
state of India?

Jharkhand

Haryana

Himachal Pradesh

Uttar Pradesh

Q.No: 80 Punjab National Bank
(subsequently merged
with Oriental Bank of
Commerce and United
Bank of India) is
headquartered
in___________.

New Delhi

Mumbai

Chandigarh

Jaipur

Q.No: 81 In which of the following
places were the 2010
Common Wealth Games
held?

Moscow

Kuala Lumpur

Delhi

Scotland

Q.No: 82 What is the full-form of ATM?

Automatic Teller Mechanic

Automatic Teller Maximum

Automated Teller Machine

Automated Teller Mechanism

Q.No: 83 Who or what is "Vyommitra"?

ISRO's first manned space flight

ISRO's Robot

ISRO's Secondary space capsule

ISRO's space travel kit

Q.No: 84 GST is a ________________.

Customs Tax

Direct Tax

Indirect Tax

Income tax

Q.No: 85 The ICC Men's Cricket World Cup
2023 was held in which country?

Srilanka

Dubai

Australia

India

Q.No: 86 The Jallianwala Bagh massacre took place
on which of the following dates?

13th April, 1919

10th April, 1919

24th April, 1921

12th April, 1920

Q.No: 87 Which of these awards is the second
highest Civilian award in India?

Padma Shri

Padma Vibhushan

Padma Bhushan

Bharat Ratna

Q.No: 88 The Table Mountain is found in which country?

Uganda

Tanzania

Kenya

South Africa

Q.No: 89 Who was the first person to sail around the world?

Marco Polo

Copernicus

Robert Peary

Magellen

Q.No: 90 The OPEC was founded in 1960 by
how many founding nations?

Q.No: 91 Which animal appears on the World
Wildlife Fund emblem/logo?

Giant Panda

Tiger

Lion

Elephant

Q.No: 92 The World Health Organization is located in which
country?

USA USA

Switzerland

Belgium

France

Q.No: 93 ______________ is the
name given to a climate
pattern that describes the
unusual warming of surface
waters in the eastern Pacific
Ocean.

Christobel

Chantal

Khanun

Q.No: 94 Which of the following state's
rulers used the title of 'Nizam'?

Mysore State

Hyderabad State

Gwalior State

Arcot State

Q.No: 95 ______ is the natural satellite of the earth.

Nix

Moon

Aryabhata

Hydra

Q.No: 96 The author of the book "Anna Karenina" is:

Leo Tolstoy

Alfred Nobel

Mahatma Gandhi

Jane Austen

Not Answered

Q.No: 97 As of january 2024, who
amongst the following is the
elected Vice-President of the
United States of America?

Mike Pence

Shruti Mahl

Kamla Harris

Joe Biden

Not Answered

Q.No: 98 In which year was the Badminton Association
of India formed?

Q.No: 99 Who was the first Governor General of Bengal?

Lord Wellesley

Warren Hastings

Sir John Shore

Lord Cornwallis

Q.No: 100 Who was the first Indian woman to win
a gold medal in shooting in Asian
Games?

Dutee Chand

Vinesh Phogat

Rahi Sarnobat

Hima Das

Section - V (Computer Knowledge)

Q.No: 101 Which of the following is not an advantage of
internet?

Entertainment

Education

Spamming

Online services

Q.No: 102 The full form of UNIVAC is:

Universal Automatic Computer

Universal Array Computer

Unique Automatic Computer

Unified Authorized Computer

Q.No: 103 Which short key is used to
Switch between open
application windows?

SHIFT+DELETE

ALT+F4

ALT+TAB

ALT+PRINT SCREEN

Q.No: 104 Email stands for:

Easy mail

Exchange Mail

Electronic mail

Electric mail

Q.No: 105 The Shortcut key which Cuts the selected text and
puts it on the clipboard :

Ctrl + Z

Ctrl + P

Ctrl + C

Ctrl + X

Q.No: 106 What kind of website is the Intranet?

Internal

Public

Shared

Secure

Q.No: 107 The length of an IPv6 address is _______ bits.

128

32

64

16

Q.No: 108 How many types of threads are there?

Two types : Low Level Thread and High Level Thread

Two types : User Level Thread and Kernel Level
Thread

Only one types : User Level Thread

Only one types : Kernel Level Thread

Not Answered

Q.No: 109 A ______ is a container in a
computer system for storing
information.

Floppy disk

Folder

Container

Directory

Q.No: 110 From which page on the Intranet can you
reset your printing PIN?

Links

My Site

Homepage

Team Site

Q.No: 111 Which of the following is not type of virus?

Overwrite virus

File system virus

Permanent virus

Macro virus

Q.No: 112 Which port transfers large amount of data
at very fast speed?

Serial port

Game port

VGA port

Fire wire port

Q.No: 113 Which commands are
automatically loaded into main
memory?

Viral

External

Internal

Situational

Q.No: 114 Which of the following is wrong regarding the
email?

First part of email address is host name

Spaces are not allowed within the email address

Second part of email address is domain name

Email consists of two parts separated by @ symbol

Q.No: 115 In MS Word,
the shortcut
key used to
insert the
current time
is
___________.

Q.No: 116 1 byte = ____ bits

6

2

4

8

Q.No: 117 The shortcut key used to print a Word
document is :

SHIFT + P

ALT+ P

ESC + P

CTRL + P

Q.No: 118 Floppy disks typically in diameter :

9 inch

10 inch

8 inch

7 inch

Q.No: 119 Identify the figure best suitable for Hybrid
Topology:



Not Answered

Q.No: 120 Peripheral devices such as
printers and monitors are
considered to be:

data

software

hardware

information

Q.No: 121 The ______ is code embedded in
some legitimate program that is set to
explode when certain conditions are
met.

Logic Bomb

Virus

Trap doors

Time Bomb

Q.No: 122
_______ is the least dangerous and
most lucrative malware.

Spyware

Ransomeware

Adware

Software

Q.No: 123 Which of the following shortcut
key is used 'redo the last
action'?

Ctrl + Y

Ctrl + Z

Ctrl + A

Ctrl + R

Q.No: 124 "Parity bits" are used for :

Identifying users

Encrypting data

Transmit data

Detecting errors

Not Answered

Q.No: 125 E-mail address consists of two
parts separated by @ symbol
the first part is _________.

Hostname

Domain

Website

Username

Section - VI (General Science)

Q.No: 126 What is the process of utilising natural
resources without depleting them?

Overexploitation

Afforestation

Extraction

Sustainable management

Not Answered

Q.No: 127 The main purpose of anodising
in the context of aluminium is to
___________.

make it heavier

make it conductive

form a thick oxide layer

Make it to shine

Not Answered

Q.No: 128 Parthenogenesis is a mode of reproduction in
which

Offspring develop from seeds

Offspring develop from spores

Offspring develop from unfertilized eggs

Offspring develop from fertilized eggs

Not Answered

Q.No: 129 Erythrocytes are also known as

White blood cells

Saliva

Platelets

Red blood cells

Q.No: 130 100 watts is equal to how many kilowatts?

Q.No: 131 The female parts of a flower are:

filament, style

anther, stigma

style, stigma

stamen, style

Q.No: 132 Transportation of oxygen
and carbon dioxide is the
main purpose of the
_________

Kidney

Heart

Liver

Chest

Q.No: 133 Nettle sting is a natural source of which acid?

Lactic acid

Tartaric acid

Citric acid

Methanoic acid

Not Answered

Q.No: 134 Unicellular organisms like yeast reproduce
through

Sexual as well as asexual modes

Cell Fusion

Budding

Vegetative propagation only

Not Answered

Q.No: 135 A phase of transition from liquid to
gas is called ______

Sublimation

Solidification

Boiling

Evaporation

Not Answered

Q.No: 136 An electromagnet consists of a core of
______

Soft iron

Hard Steel

Soft Copper

Hard Aluminum

Q.No: 137 Animals that have a segmented body
belong to the phylum

Porifera

Chordata

Annelida

Mollusca

Q.No: 138 Base of the pistil is:

Sepal

Stigma

Ovary

Style

Q.No: 139 Which one of the following shows the
correct relationship in terms of
reactivity?

Not Answered

Q.No: 140 The main purpose of organ donation is to
____________.

Removing the organs from the donor

For research and development

Selling them to make money

Providing organs to those with non-functioning organs

Q.No: 141 _______ largely
determines the sex of an
individual in human beings.

Ability to change sex

Environmental cues

Genes inherited from parents

Temperature at which fertilized eggs
are kept

Q.No: 142 What is the term for the process of
breakdown of pyruvate in the
absence of oxygen?

Aerobic respiration

Anaerobic respiration

Photosynthesis

Carbonisation

Not Answered

Q.No: 143 Which of the following is a renewable source of
energy?

Oil

Coal

Ocean

Uranium atoms

Q.No: 144 In plants, Auxin is a hormone responsible for:

cell growth and elongation

Regulating water balance

Inhibiting growth

Attracting pollinators

Not Answered

Q.No: 145 Industrial emission is a source of __________
pollution

Air

International

Domestic

Forest

Q.No: 146 Why is windmill maintenance
required so frequently for
the tower and blades?

High exposure to sun and rain

Less interaction with natural element

Low initial cost of establishment

Lack of technology input

Not Answered

Q.No: 147 The full form of CFC is

Chloro farmaldihyde carbon

Chloro fluoro catalyst

Chloro fluoro carbon

Carbon fluoro carbon

Q.No: 148 Base + Acid gives you _________.

Only Water

Salt + Carbon-di-oxide

Salt + Water

Salt + Hydrogen gas

Q.No: 149 Which lens is thinner at the centre?

Plane

Convex

Flat

Concave

Not Answered

Q.No: 150 What are Fungi that depend on
living plants and animals
called?

Symbiosis

Mycorrhizae

Parasites

Saprophytes
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Section - I (English)

Q.No: 1 Choose the correct option that completes the sentence logically and grammatically:
She is neither interested _____ involved.

nor

and

but

or

Q.No: 2 Read the following paragraph and then answer the questions given below by choosing the most appropriate option based on
what is said in the paragraph:

The Impact of Climate Change on Oceans

Climate change poses a severe threat to the health of the world's oceans. Rising temperatures, caused by greenhouse gas
emissions, lead to the bleaching of coral reefs and the disruption of marine ecosystems. Additionally, the melting of polar ice
caps contributes to rising sea levels, impacting coastal communities. Urgent global action is needed to reduce carbon
emissions and mitigate the adverse effects of climate change on oceans and marine life.

What is the focus of the paragraph?

Greenhouse gas emissions

Climate change impact on oceans

Coral reefs

Rising sea levels

Q.No: 3 Read the following paragraph and then answer the questions given below by choosing the most appropriate option based on
what is said in the paragraph:

The Impact of Climate Change on Oceans

Climate change poses a severe threat to the health of the world's oceans. Rising temperatures, caused by greenhouse gas
emissions, lead to the bleaching of coral reefs and the disruption of marine ecosystems. Additionally, the melting of polar ice
caps contributes to rising sea levels, impacting coastal communities. Urgent global action is needed to reduce carbon
emissions and mitigate the adverse effects of climate change on oceans and marine life.

What causes rising temperatures in oceans, according to the paragraph?

Coral reefs

Marine ecosystems

Greenhouse gas emissions

Polar ice caps

Not Answered

Q.No: 4 Read the following paragraph and then answer the questions given below by choosing the most appropriate option based on
what is said in the paragraph:

The Impact of Climate Change on Oceans

Climate change poses a severe threat to the health of the world's oceans. Rising temperatures, caused by greenhouse gas
emissions, lead to the bleaching of coral reefs and the disruption of marine ecosystems. Additionally, the melting of polar ice
caps contributes to rising sea levels, impacting coastal communities. Urgent global action is needed to reduce carbon
emissions and mitigate the adverse effects of climate change on oceans and marine life.

Why is urgent global action needed, according to the paragraph?

To disrupt marine ecosystems

To promote rising sea levels

To reduce carbon emissions

To encourage coral reef bleaching

Not Answered

Q.No: 5 Choose the correct part of speech for the underlined word in each sentence.
The river flowed gently through the picturesque valley.

Adverb

Adjective

Verb

Noun

Q.No: 6 Choose the correct question tag from the four options given, that completes the sentence logically and grammatically:
It's raining heavily, _____?

won't it

isn't it

can't it

hasn't it

Q.No: 7 What is the singular form of "thieves"?

thieven

thievs

theefs

thief

Q.No: 8 Which punctuation mark should be used after the introductory phrase, "To begin with____"?

Colon (:)

Period (.)

Dash (-)

Comma (,)

Q.No: 9 Choose one word substitution for the following:
"Group of Cows"

Mob

Herd

Pride

Troop

Q.No: 10 What is the correct past tense form of the verb "Book"?

Booked

Booking

Book

Will book

Q.No: 11 Choose the option that best represents the antonym of the underlined word in the sentence.
The politician's audacious plan sparked both praise and criticism.

optimistic

naive

timid

cowardly

Not Answered

Q.No: 12 What does the idiom "out of the frying pan into the fire" mean?

Moving from a bad situation to a worse one

Cooking in the kitchen

Extinguishing a fire

Jumping over a fire

Not Answered

Q.No: 13 In the following question, a sentence has been given in Active voice. Out of the four alternatives suggested, select the one
which best expresses the same sentence in Passive voice.

This is the second time I have caught you cheating.

Catching you cheating for the second time has been done by me.

You were cheating for a second time and I have caught you.

You have been caught cheating by me for the second time.

This is the second time you have cheated and were caught by myself.

Not Answered

Q.No: 14 Choose the correct article in English grammar, that completes the sentence:
He is not _______ honourable man.

a

an

the

No Article Required

Q.No: 15 Arrange the following jumbled sentence into a coherent order:

A. Beach

B. Played

C. Building

D. They

E. On

F. The

G. Sandcastles

H. By

C-G-D-B-E-A-H

H-D-C-G-B-E-F-A

D-E-H-F-A-B-C-G

D-B-E-F-A-H-C-G

Q.No: 16 Choose the correct option that completes the sentence logically and grammatically:
The project was _______ challenging that we needed extra time to complete it.

to

such

so

also

Q.No: 17 What is the single word for "A person who makes and repairs wooden objects"?

Carpenter

Welder

Blacksmith

Mason

Not Answered

Q.No: 18 Which sentence is in the past perfect tense?

She will read the novel.

We are reading newspapers.

They had already finished their homework.

He is reading a book.

Q.No: 19 What is the Antonym of the word "steady"?

Unstable

Firm

Stationary

Rooted

Not Answered

Q.No: 20 Fill in the blank with the correctly spelled word:
She received a _______ for her outstanding performance in the play.

complimentt

complement

compliment

complemint

Q.No: 21 Choose the word that means "causing harm or damage":

Beneficial

Favourable

Advantageous

Detrimental

Not Answered

Q.No: 22 Choose the correct part of speech for the underlined word in each sentence.
Hop on my back and I will take you across.

Pronoun

Interjection

Preposition

Conjunction

Q.No: 23 Choose the correct part of speech for the underlined word in each sentence.
The happy children played in the park.

Noun

Verb

Adjective

Adverb

Q.No: 24 Fill in the blank with the most appropriate preposition:
The sandwich is ______ two slices of bread.

front

beyond

between

across

Not Answered

Q.No: 25 What does the term "quench" mean?

Remove

Frustrate

Satisfy

Spark

Not Answered

Section - II (Odia)

Q.No: 26

Q.No: 27

Q.No: 28

Q.No: 29

Q.No: 30

Q.No: 31

Q.No: 32

Q.No: 33

Q.No: 34

Q.No: 35

Q.No: 36

Q.No: 37

Q.No: 38

Q.No: 39

Q.No: 40

Q.No: 41

Not Answered

Q.No: 42

Q.No: 43

Q.No: 44

Q.No: 45

Q.No: 46

Q.No: 47

Q.No: 48

Q.No: 49

Q.No: 50

Section - III (Arithmetic)

Q.No: 51 If a car travels at a speed of 90
kilometers per hour, how far will it
travel in 2.5 hours?

135 km 135 km

200 km 200 km

180km 180 km

225 km 225 km

Q.No: 52 Simplify:

1 1

0.3 0.3

3.5 3.5

1.6 1.6

Q.No: 53 Simplify:

Q.No: 54 A farmer sold fruits he had grown
at a profit of 35%. The cost price
was Rs.6000.
How much is the total amount he
got?

Q.No: 55 In a class, there are 9 students
who have taken French as their
major subject and 45 who have
taken English as their major
subject. What is English to
French ratio in the class?

5:1 5:1

9:5 9:5

3:10 3:10

1:5 1:5

Q.No: 56 The speed of light in a vaccum is
approximately 300,000,000 meters per
second. How long will it take for light to
travel a distance of 150,000,000
kilometers?

Q.No: 57 What percent of 45 is 36?

Q.No: 58 4 men and 6 women can complete a
work in 8 days, while 3 men and 7
women can complete it in 10 days. In
how many days will 10 women
complete it?

30 days

38 days

40 days

18 days

Q.No: 59 An employee got a 12% increase
in the salary. If the salary was
Rs.30,000,then how much is the
revised salary?

Q.No: 60 What is the LCM of 7, 12 and 14?

28 28

56 56

14 14

84 84

Q.No: 61 Raven is 10 years older than
Cynthia. If the sum of their
ages is 40,what is Cynthia's
age?

25 years

20 years

15 years
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15 years

10 years

Q.No: 62 A real
estate agent
sells two
sites for
Rs.20,000
each. On
one he
gains 20%
and on the
other he
loses 5%.
What is his
loss or gain
percent(%)?

8% Loss

7.5% Profit

8.5% Loss

9% Profit

Q.No: 63 What is the Highest Common Factor (HCF) of 22 and 44?

44 44

2 2

22 22

1 1

Q.No: 64 Suma's age is 3 times the age of Ramya. The
total of their ages is 64 years. Find the ages of
Suma and Ramya.

15 and 40

38 and 26

48 and 16

18 and 46

Q.No: 65 If 20 workers can build a bridge in
30 days, how many days will it
take for 25 workers to build the
same bridge?

24 days

20 days

30 days

25 days

Q.No: 66
If the cost price of an article is Rs.35 and
the selling price is Rs.55, what is the profit
percentage?(Approximate)

57.14% 57.14%

55.14% 55.14%

56.00% 56.00%

58.00% 58.00%

Q.No: 67 If you roll a fair six-sided dice,
what is the probability of rolling a
number less than 5?

0 0

2/3 2/3

1 1

5/6 5/6

Q.No: 68 If you randomly select a letter from
the word "KARNATAKA", what is the
probability that it is 'A'?

1/9 1/9

3/4 3/4

1/2 1/2

4/9 4/9

Q.No: 69 Simplify:

Q.No: 70 A certain sum becomes thrice on
simple interest in 5 years. What is rate
percent per annum?

30% 30%

20% 20%

10% 10%

40% 40%

Q.No: 71 The average of five numbers is
55. If the first number is 75,
what is the average of the
remaining numbers?

55 55

65 65

50 50

60 60

Q.No: 72 The ratio of 2.5 m to 10 cm is ______.

Q.No: 73 The average of eight numbers is 75. If two numbers are
56 and 82, what is the average of the remaining six
numbers?

77 77

78 78

82 82

75 75

Q.No: 74 Rani invests Rs.2500 in a fixed
deposit for 5 years at 8%
annual simple interest. What is
the total amount she will
receive after 5 years?

Rs.3500 Rs.3500

Rs.4000 Rs.4000

Rs.4500 Rs.4500

Rs.3000 Rs.3000

Q.No: 75 Simplify:

Section - IV (General Knowledge)

Q.No: 76 Where is Indian Institute of Petroleum located?

Chennai

Dehradun

Haryana

Delhi

Q.No: 77
Laureus awards or prizes are presented in which field of
human endeavour?

Literature

Film making

Music

Sports

Q.No: 78 Who discovered the electron?

Chadwick

Thomson

Rutherford

Dalton

Not Answered

Q.No: 79 Who was the first speaker of Lok Sabha?

Gurdial Singh Dhillon Tarn Taran

Ganesh Vasudev Mavalankar

M. A. Ayyangar Chittoor

Jawahar Lal Nehru

Not Answered

Q.No: 80 Who was the first Governor of Odisha?

VP Menon

Bhimsen Sachar

Sir John Austen Hubback

M Asaf Ali

Q.No: 81 Which of the following is NOT a type of Balance of
Payments?

Surplus

Balanced

Equity

Deficit

Q.No: 82 Which institution releases the Primary
(Urban) Co-operative Banks' Outlook
2021-22?

NABARD NABARD

NITI ayog NITI ayog

NPCI NPCI

RBI RBI

Q.No: 83
The Pulitzer Prize is awarded by __________.

The Stanford University

The Columbia University

The Oxford University

The Harvard University

Q.No: 84 Which day is celebrated as National Small Industry Day in
India?

August 30

August 16

November 15

July 22

Q.No: 85
In which among the following books has Darwin
mentioned the evolution of Humans?

The origin of species

The Neanderthal man

The origin of man

The origin of sapiens

Not Answered

Q.No: 86 Who among the following is best known for
playing Harry Potter in the Harry Potter film
series during his adolescence and early
adulthood?

Mathew Lewis

Alan Rickman

Daniel Jacob Radcliffe

Tom Felton

Not Answered

Q.No: 87 Fill in the blanks:

The Food and Agriculture Organization (FAO) is
headquartered in ________.

Sweden

Rome

Geneva

USA

Q.No: 88
Which of the following SDG goal is related to the
regulations towards responsible production?

GOAL 9

GOAL 8

GOAL 12

GOAL 11

Not Answered

Q.No: 89 What does a Sphygmomanometer measure?

Electrical activity of the heart

Blood Pressure

Respiratory rate

Air waves (Velocity)

Not Answered

Q.No: 90 Terrace farming is done:

on the slope of hills

on plane regions

on mountain tops

in dry regions

Q.No: 91 Which article of the Indian Constitution related to Vice-
President of India?

Q.No: 92 Which of the following lakes of India is located in Jammu
and Kashmir?

Lake Chilika

Fateh Sagar Lake

Nakki Lake

Wular Lake

Q.No: 93
Where did the Great Indian Mutiny (the First War of
Independence) first start?

Meerut

Madras

Agra

Calcutta

Q.No: 94 Tedros Adhanom Ghebreyesus, the
Director General of WHO as of January
2023, hails from which country?

Uganda

Ethiopia

Ivory Coast

Kenya

Q.No: 95
Who invaded Scotland in 80 AD led by Agricola?

The French

The Italians

The Indians

The Romans

Q.No: 96
Which US president allocated $114 million for teaching
Hindi?

Barack Obama

Joe Biden

Donald Trump

George Bush

Q.No: 97 What is the full form of SMS in the context of mobile
phone usage?

Shortened Message Service

Shorthand Messaging Services

Short Message Service

Simple Messaging Service

Q.No: 98 What is the full form of GNP?

Gross National Product

Gross Neutral Product

Gross Natural Product

Gross National Production

Q.No: 99
Modi script was used to write which of the following
languages?

Malayalam

Marathi

Telugu

Gujarati

Q.No: 100
The Indira Gandhi National Open University (IGNOU) was
established by an Act of Parliament in _____.

2000 2000

1995 1995

1980 1980

1985 1985

Section - V (Computer Knowledge)

Q.No: 101 What is the shortcut key to "Close the document"
in MS word?

Ctrl+S Ctrl+S

Ctrl+X Ctrl+X

Ctrl+N Ctrl+N

Ctrl+W Ctrl+W

Q.No: 102
The full form of WORM is ______________.

Write Once Read Many

Write Once Record Many

Write Only Record Many

Write Only Record Memory

Q.No: 103 What is the shortcut key to insert page breaks in MS
word?

Tab + enter

Alt + enter

Shift + enter

Ctrl + enter

Q.No: 104 What is the full form of the file system known as “NTFS”?

New Triad File System

New Transfer File System

New Technology File System

New Technology File Source

Q.No: 105 ___________ refers to continuous surveillance on
the target (or person) done by a group of people
or by the individual person.

Bulling

Theft

Nulling

Stalking

Not Answered

Q.No: 106 Transmission and delivery of information
containing text, image, video, documents etc. to
targeted recipient(s) over the Internet is called
____________.

E-commerce

E-mail

www www

Media

Q.No: 107 In simplex channel, flow of data is:

Both direction simultaneously

Bidirectional

In both direction, but one at a time

Unidirectional

Q.No: 108 Speed of first generation computer was measured in:

Micro seconds

Nano-milli seconds

Nano seconds

Milli seconds

Q.No: 109 The accuracy of the floating point numbers
representable in two 16-bit words of a
computer is approximately :

16 digits

6 digits

9 digits

19 digits

Q.No: 110 Which of the following is not a type of operating system?

Linux

Ubuntu

Windows

Office

Q.No: 111 Which shortcut key is used
to open "Find and Replace"
dialog box in MS word?

Ctrl+G Ctrl+G

Ctrl+C Ctrl+C

Ctrl+I Ctrl+I

Ctrl+H Ctrl+H

Q.No: 112 Which of the following is not an input device?

Touch pad

OCR OCR

Plotter

MICR MICR

Q.No: 113 What is the main folder in Gmail?

Trash

Draft

Inbox

Spam

Q.No: 114 Which computer network
connects groups of
computers over large
distances and often used by
large businesses to connect
their office networks?

MAN

LAN

CAN

WAN

Not Answered

Q.No: 115 What is the default extension for a
PowerPoint presentation in versions 2007 or
later?

.docx

.msppt

.pptx

.xlsx

Q.No: 116 What is the full form of SMTP?

Server Message Transfer Protocol

Simple Mail Transfer Protocol

Small Mail Transfer Protocol

Simple Main Transfer Protocol

Q.No: 117 Documents, movies, images and photographs
etc., are stored at a?

Print server

Copy server

Virtual server

File server

Q.No: 118 Based on the direction of information
exchange, there are _______ types of
data communication.

3

4

2

5

Q.No: 119 Which is the shortcut key to hide selected rows in Excel?

Ctrl+C

Ctrl+H

Ctrl+9

Ctrl+0

Q.No: 120 Which of the following is not a computer threat?

Ransomware

Spyware

Malware

Hardware

Q.No: 121 The full form of 'JPEG' is :

Joint Photographic Experts Group

Joint Photographic Exercise Group

Joint Photography Execution Group

Join Photographic Experts Group

Q.No: 122 How many number of elements in the open IOT
architecture?

Seven elements

Five elements



Five elements

Four elements

Six elements

Not Answered

Q.No: 123 The transmission of a file to our computer from the
internet is called:

Saving

Receiving

Uploading

Downloading

Q.No: 124 Combining two or more adjacent
cells into a one cell in MS Excel is
called ____________.

Editing

Merging

Matching

Splitting

Q.No: 125 An interconnected network exclusively used within
organizations such as banking, business firms that
uses web technologies for sharing data or
information internally is called:

Intranet

Protocol

Hypertext

Internet

Not Answered

Section - VI (General Science)

Q.No: 126
A combination with a high melting
point is created when an element
and oxygen combine. Additionally
soluble in water is this chemical. The
component most likely is

Calcium

Iron

Silicon

Carbon

Q.No: 127 What is the atomic number of sodium ?

Q.No: 128 What is Sublimation ?

A phase of transition from liquid to solid

A phase of transition from solid to gas

A phase of transition from solid to liquid

A phase of transition from liquid to gas

Q.No: 129 What is the term used to describe the
phenomenon where genetic variations
become common in a population due to
survival advantage called?

Genetic mutation

Natural selection

Genetic drift

Accidental survival

Not Answered

Q.No: 130 Chlorophyll is mainly located in which of the following
part of the plant ?

Fruit

Stem

Root

Leaf

Q.No: 131 Hydrogen fuel cells are an example of:

Conventional source of energy

Non-conventional source of energy

Both conventional and non-conventional

Neither conventional nor non-conventional

Q.No: 132 ___________phenomenon is used to avoid the risk
of electric shock

Demagnetization

Insulation

Amplification

Earthing

Q.No: 133 State the pH range of a weak acid solution, such as grape
juice

The pH range of grape juice is 9-12

The pH range of grape juice is 5-10

The pH range of grape juice is 5-7.5

The pH range of grape juice is 2-5

Q.No: 134 What is the phenomenon which causes a straw in a glass
of water to appear bent?

Refraction

Reflection

Diffraction

Scattering

Q.No: 135 Why is iodized salt important for our diet?

It enhances taste

It prevents obesity

It is necessary for thyroxin synthesis

It reduces blood pressure

Q.No: 136 In what way does Rhizopus reproduce?

Vegetative propagation

Spore formation

Fragmentation

Sexual reproduction

Q.No: 137 _________ is an example of an insectivorous plant

Bladderwort

Cuscuta

Animalia

Fungi

Q.No: 138 ______________prevents the sudden increase in
temperature during the day

Rain

Wind

Atmosphere

Clouds

Q.No: 139 In the human body, Kidneys are part of which _______
system.

Excretory

Digestive

Transportation

Respiratory

Q.No: 140 Which non-conventional source of
energy involves the conversion of
sunlight into electricity ?

Geothermal Energy

Solar Energy

Tidal energy

Wind Energy

Q.No: 141 What is a circuit?

A closed path which restricts electricity flow from one
point to another

A closed path which allows electricity to flow from one
point to the other

An open path where electricity flows

A closed path which disperses electricity flow

Q.No: 142 In terrestrial plants, the primary function of the root
system is to:

Provide structural support for the plant body

Store carbohydrates produced during photosynthesis

Synthesize essential organic molecules

absorption of water and nutrients from the soil

Q.No: 143 Which one of the following shows the correct relationship
in terms of reactivity?

Not Answered

Q.No: 144
The term for the motile germ-cell in organisms
with complex body designs is_______.

Special lineage

Male gamete

Female gamete

Zygote

Q.No: 145 Which of the following is the main consequence of ozone
layer depletion?

Ozone layer thickening

Global warming

Acid rain

Increased ultraviolet (UV) radiation

Q.No: 146 Bufo (Toad) is an example of Class:

Amphibia

Mammalia

Aves

Reptilia

Not Answered

Q.No: 147
A solution reacts with crushed egg-
shells to give a gas that turns lime-
water milky.The solution contains

Not Answered

Q.No: 148 What is the function of a fuse in an electrical circuit?

To prevent short circuits

To decrease resistance

To regulate voltage

To increase resistance

Q.No: 149 What type of heart
structure is found in
reptiles and amphibians?

Four - chamber heart

Three - chamber heart

Five - chamber heart

Two - chamber heart

Q.No: 150 What refers to biological magnification?

Ecosystem where the micro and macro organisms live

Increase in the concentration of toxin as we move to the top of
food web

System where consumption of various foods exists

The number of levels in the food web

Not Answered


